Dé thi gilra ki mon tiéng anh 16p 12 Bién soan theo chwong trinh méi cia Team Hocmai

DE KIEM TRA, PANH GIA GIUAKI I
NAM HOQC 2023 - 2024
MON Tiéng Anh — Khéi l6p 12
Thoi gian lam bai : 60 phut
(khéng ké thoi gian phdt dé)

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs front the other three in the
position of the primary stress in each of the following questions.

Question 1.  A. waver B. talent C. figure D. migrate
Question 2.  A. exacerbate B. unemployment C. development D. sustainable
Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in meaning to each of
the following questions.
Question 3. The number of unemployed people doubled between 2005 and 2009.

A. There were twice as many unemployed people in 2005 compared to 2009.

B. There were twice as many unemployed people in 2009 as in 2005.

C. Twice as many people were unemployed in 2005 compared to 2009.

D. Twice as many people were unemployed in 2009 than in 2005.
Question 4. I have accustomed myself to getting up very early.

A. I have been used to getting up very early.

B. I have used to getting up very early.

C. I have made use of getting up very early.

D. I have put getting up very early to good use.
Question 5. I started working in this company when I came back from Japan.

A. I haven't come back Japan since I started working in this company.

B. When I worked in this company, I started coming back from Japan.

C. I have been working in this company since I came back from Japan.

D. As soon as came back from Japan, I applied for this company.

Read the passage and choose A, B, C, or D to indicate the correct answer for each numbered blank.

An important cause of urbanization is an (6) cause. Furthermore, poverty is a widespread
phenomenon in rural areas. Moreover, farmers are finding it very hard (7) enough money and make a living.
Consequently, rural people move to urban areas in search (8) better job opportunities.

Education is a strong cause of urbanization. Urban areas offer opportunities for seeking high-quality education.
) , urbanization offers opportunities for studying at universities and technical colleges. Such handsome
education opportunities attract many young people in rural areas to move to urban areas.

Environmental degradation also (10) a part in contributing to urbanization. Deforestation destroys
the natural habitat of many farming families. Furthermore, mining and industrial expansion also harm the natural
habitat of farming families.

Question 6. A. economics B. economical C. economy D. economic
Question 7. A. earning B. eam C. earned D. to earn
Question 8. A. for B. to C.on D. of
Question 9. A. Therefore B. Consequently C. Moreover D. However
Question 10. A. gets B. plays C. takes D. has

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the
underlined word(s) in each of the following questions.

Question 11. Hard-working and talented students should be given more opportunities to develop their skills.
A. distinguished B. excited C. gifted D. determined
Question 12. Scientists are becoming more and more concerned about how to dispose of waste safely

A. use up B. give away C. run out D. get rid
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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following
questions.

Question 13. It is crucial that urban people down on rural people.
A. not look B. don't look C. not looking D. look not
Question 14. It rained all the time,  was a great pity.
A. that B. who C. which D. when
Question 15. Reducing black carbon can also prevent many deaths and illnesses.
A. soot-related B. related-soot C. soot-relate D. soot-relating
Question 16. Which is the European country economy is growing the fastest?
A. which B. whom C. whose D. that
Question 17. My favourite pastime is playing guitar, but my best friend prefers playing tennis.
A. no article/ no article B. no article/ the
C. the/ no article D. the/ the
Question 18. Don’t allow other people to take advantage of your . You should learn to give wisely.
A. achievement B. generosity C. talent D. distinguished
Question 19. At this time tomorrow, my father in London.
A. is arriving B. would arrive C. will be arriving D. has arrived
Question 20. In the city, young people can also have access to facilities and technology.
A. long-term B. fast-growing C. weather-beaten D. up-to-date
Question 21.  his good work and manners, he didn't get a promotion.

A. Because B. In spite of C. Because of D. Even though
Question 22. He objected the village road.

A. being widened B. to widening C. to widen D. widening
Question 23. Frank for money last year when he still out of work.

A. is constantly asking/ is B. constantly asked/ was

C. was asking constantly / was D. was constantly asking/ was
Question 24. Miss Kim recommended that our class into six groups to work on the unit project.

A. divides B. should be divided

C. should divide D. divide
Question 25. It’s time we the content.

A. finalises B. finalised C. finalising D. finalise
Question 26. I’ll marry her as soon as she all her problems.

A. solved B. has solved C. had solved D. solve
Question 27. I have just bought a television set in Japan.

A. made B. in which made C. which made D. who is made
Question 28. Making mistakes is all of growing up.

A. from top to bottom B. chalk and cheese

C. bits and bobs D. part and parcel
Question 29. We still need to do some research the solutions.

A. for B. on C. about D. in
Question 30. Do you think we should stick urbanisation in Viet Nam?

A.up B. with C.on D. to
Question 31. , tell him that I have gone to London.

A. When Mr. Jones calls B. Will Mr. Jones call

C. As does Mr. Jones call D. When Mr. Jones will call
Question 32. we invested in telecommunication industry, we would be rich by now.

A. Had B. Will C. Should D. Were

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs from the

other three in pronunciation in each of the following questions.
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A. reputation B. conservation C. recognition D. dedication
Question 34.
A. missed B. talked C. cleaned D. watched

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best completes each of the
following exchanges.

Question 35. Alex: "We've tried hard but we couldn't make it!” Mark: “Oh. .
A. I'm sorry. B. Thank you.
C. You are welcome. D. What a pity!

Question 36. Mark: “  ” Jenny: "I think there are various reasons."

A. Do you mind if I think about reasons for urbanization?

B. What do you think about reasons for urbanization?

C. Would you mind thinking about the reasons for urbanization?

D. I'd like to invite you to think about reasons for urbanization.
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions.
Question 37. They are going to have to amputate his left leg which was badly injured in the accident.

A. remove B. mend C. cut off D. separate
Question 38. The lecture was two hours long and boring, so by the end of it, I completely switched off.

A. stop paying attention B. continue to work

C. keep paying attention D. stop thinking

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of
sentences in the following questions.

Question 39. He doesn't like going out. He doesn't invite any friends home.
A. He not only goes out but also invites any friends home.
B. He either goes out or invites any friends home.
C. He goes out but not invites any friends home.
D. He neither goes out nor invites any friends home.

Question 40. We should all go green by practising the 3Rs: reduce, reuse, and recycle. This is always encouraged by
environmentalists.

A. We should all go green by practising the 3Rs: reduce, reuse, and recycle, which is always encouraged by
environmentalists.

B. We should all go green by practising the 3Rs: reduce, reuse, and recycle, which are always encouraged by
environmentalists.

C. We should all go green by practising the 3Rs: reduce, reuse, and recycle that is always encouraged by
environmentalists.

D. We should all go green by practising the 3Rs: reduce, reuse, and recycle which is always encouraged by
environmentalists.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
answer to each of the questions.

Cities are home to skyscrapers and apartment buildings, and it's rare to find wide, open spaces within them. With
limited space for parks and gardens, architects and city planners often find it challenging to incorporate greenery into
neighbourhoods.

One creative solution is to grow plants on unused areas like walls or rooftops. It's a popular idea, and now rooftop
gardens and green walls have been spouting up in cities around the world. There are many benefits to having green
spaces to the urban landscape. Adding gardens to rooftops or walls can create a pleasant environment - what was once a
grey cement wall can become a colourful, blooming garden. The Caxia Forum art gallery in Madrid, Spain, is a famous
example - one of its walls is covered with 15,000 plants from over 250 different species.

In other cities, green walls are being used more functionally, to cover up construction sites and empty buildings and
to prominently decorate the lobbies of office buildings. Using plants to cover walls and rooftops can also keep cities
cooler in the summer. Buildings and roads absorb the sun's heat and hold it, causing a building or neighbourhood to
stay warmer longer. Plants, on the other hand, provide an enormous amount of shade. There is evidence that growing a
roof or wall garden can lower. Many cities offer tax discounts to businesses with these features.
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In New York City, public schools plant rooftop gardens that can reduce heating and cooling costs. In addition to
saving the school money, teachers and parents love the gardens because of their educational value - it's a fun and
healthy way for their kids to investigate the world around them. “For the children, it's exciting when you grow
something edible," said Lauren Fontana, principal of a New York public school.

These green spaces are also used to grow food. In recent years, rooftop gardens have slowly been included in the
"local food movement". This is based on the concept that locally grown food reduces pollution since it does not have to
be transported far. Vegetables are being grown in rooftop gardens by schools, churches, neighbourhoods and even
restaurants. Chef Rick Bayless serves “Rooftop Salsa” at his restaurant in Chicago, USA, using only ingredients grown
in his rooftop garden. Rooftop gardens and green walls may require a bit more effort to grow and maintain. However,
hard work always brings rewards, and with green spaces, the rewards are plentiful.

Question 41. Why is the green wall in Madrid mentioned in the passage?

A. It was made to provide jobs for homeless people. B. It is located on the side of a government building.

C. It is a famous example of a green wall. D. It is the most expensive green wall in the world.
Question 42. What is this passage mainly about?

A. how to grow your own food in the city B. people growing plants on roofs and walls

C. gardens in Madrid, New York, and Chicago D. private gardens in the city's unused spaces
Question 43. The word "it" in paragraph 5 refers to

A. the food in general B. green space

C. locally grown food D. a rooftop garden
Question 44. According to the passage, people as cities have little space for gardens.

A. grow plants in their apartments B. go to the countryside at the weekends

C. paint their walls and roofs green D. grow trees and flowers on top of roofs

Question 45. Why did Chef Bayless name his dish "Rooftop Salsa"?
A. He got the idea while cooking on his rooftop.
B. He buys the salsa from other rooftop gardeners.
C. The money earned from the dish is given to rooftop gardeners.
D. It is made from food grown in his rooftop garden.
Question 46. Because food can now be grown in Citi€s, .........cocceevveereeriereenneenne
A. there's less pollution caused by transporting food
B. governments are making many rules about city gardens
C. farmers in the countryside are moving to the city
D. the food at expensive restaurants is cheaper
Question 47. Which is NOT mentioned as a benefit of a rooftop garden?
A. Having one might mean paying less taxes.
B. It becomes a park that the community can use.
C. Growing plants on a roof keeps buildings cooler.
D. Children can use it to learn about the environment.

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs correction in each
of the following questions.

Question 48. It was absolutely amazed to watch her use all the kitchen tools and prepare the dishes.

A. the dishes B. her use C. amazed D. all the
Question 49. It is vital that people allow to choose where to live.
A. vital that B. allow C. to choose D. where to
Question 50. We drove to the hospital to visit Mike when he called to say that he was fine.
A. the hospital B. was C. called D. drove
END
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KIEM TRA GIUA HQC Ki I NAM HQC 2024-2025
MON : Tiéng Anh - Lép 12

Ma dé: 121

Ho va tén hoc smh
DE BAI

Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of
the primary stress in each of the following questions.
Question 1.  A. proportion B. urbanity C. prestigious D. estimate

Question 2. A. phonetician B. exacerbate C. sanitation D. inhabitant

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks.

I was an MBA student in the USA and I lived in the university’s coed dormitory. In my culture,
usually, if a woman talks to a man, it is a sign of romantic interest. (3) , in the first few days of
school, I found it strange that so many women (4) to me and I was under the impression that some
women on my dormitory floor were interested in me. To return their politeness, I would buy them flowers
or offer small gifts, as is done in my country. However, [ was quite surprised were talking that these same
women now seemed (5) around me. One was even quite offended and told me to leave her
alone. Eventually I talked to the residence adviser on my floor to see what I was doing wrong, and he
explained to me the way men and women usually interact in the USA. I was quite relieved to hear that
nothing was wrong with me, but rather with the way I was interpreting my conversations with women.

Even though I did not find the love of my life while I was in (6) USA, I still made many good
female friends afterwards (7) I still maintain contact.

Question 3. A. Moreover B. However C. Otherwise D. Therefore

Question 4. A. exciting B. surprising C. uncomfortable  D. amazing

Question 5. A. sees B. saw C. seeing D. to see

Question 6. A. the B. an C.a D. X

Question 7. A. with whom B. to whom C. who D. whom

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined

word(s) in each of the following questions.

Question 8. Many people move to urban areas seeking for job opportunity as well as stable employment.
A. steady B. temporary C. durable D. long-lasting

Question 9. In recent years, Madonna has continued to tour, release albums and engage in humanitarian
work.
A. become uninvolved in B. throw oneself into C. have a hand in D. take part in

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined
word(s) in each of the following questions.
Question 10. She was brought up in the slums of Leeds.

A. rural area B. downtown area C. industrial area D. poor area
Question 11. She's a down-to-earth woman with no pretensions.
A. idealistic B. practical C. creative D. ambitious

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning
to each of the following questions.
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Question 12. Father was watching TV and mother was reading a magazine.
A. Father was watching TV while mother was reading a magazine.

B. Father was watching TV when mother read a magazine.
C. Father was watching TV while mother read a magazine.
D. Father watched TV while mother read a magazine.

Question 13. She was reading a book and the man came in.
A. She was reading a book then the man came in.

B. She was reading a book when the man came in.
C. While she was reading a book and the man came in.
D. When she was reading a book and the man came in.

Question 14. The man demanded to be told everything about the accident.
A. The man demanded that everything about the accident tell.

B. The man demanded that everything about the accident told.
C. The man demanded that everything about the accident had told.
D. The man demanded that everything about the accident should be told.

Question 15. A car hit the fence of my garden. I was cleaning the swimming pool.
A. While a car hit the fence I was cleaning the swimming pool.

B. A car hit the fence and I was cleaning the swimming pool.
C. I was cleaning the swimming pool when a car hit the fence.
D. I was cleaning the swimming pool then a car hit the fence.

Question 16. She must find it important to take two medicines every day.
A. It is important that she had taken two medicines every day.

B. It is important that be taken two medicines every day.
C. It is important that she take two medicines every day.
D. It is important that she takes two medicines every day.

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the
following questions.
Question 17. The tourists was leaving the hotel at 6 p.m. to take a bus to Angkor Wat.

A. was leaving B. to C. at D. The
Question 18. While Jean drove, Sarah was giving directions from her mobile phone GPS.

A. was giving B. her C. drove D. directions
Question 19. The biggest problem with eating too much sugar is that it can cause the diabetes.

A. that B. The C. the diabetes D. much
Question 20. The teacher demanded that the classroom be cleaning immediately.

A. be cleaning B. that C. The D. immediately
Question 21. We returned from a two-week holiday in a Philippines and Indonesia.

A. from B. returned C. a Philippines D. a two-week

Mark the letter A, B, C or D to indicate the word whose underlined part differs from the other
three in pronunciation in each of the following questions.
Question 22. A. lasting B. migrate C. populated D. scale

Question 23. A. inaccurate B. identify C. illustrate D. agricultural

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.

Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60
and older, and in 15-20 years the elderly will account for one third of the total population. This raises
concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on
economic integration and requires a large labor force. So far two solutions have been proposed: to loosen
the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the
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two-child policy the government expects to make up for the ageing population within the next 20 years.
But its effect could be creating an uncontrollable boom in the Vietnamese population. When the
government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third
child birth rate increased remarkably by 7.5 per cent.

Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary
evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly
while creating savings in the pension budget, it also means fewer job prospects and promotion
opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per
cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture,
manufacturing and construction where working above the age of 50 can be dangerous and unproductive.
Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key
solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.
Question 24. In the 2rd paragraph, the writer suggests that

A. Raising the retirement age and stopping two-child policy can be considered as long-term and
effective solutions.

B. Raising the retirement age can reduce job opportunities for younger generations.

C. The Ministry of Labor has applied raising the retirement age in May 2017.

D. The elderly whose age is 50 would be dangerous if they continued to work

Question 25. The word "temporary' in paragraph 2 means :
A. long-term B. short-term C. permanent D. constant

Question 26. The best title for this passage could be
A. Stopping the two-child policy in Vietnam

B. Raising the retirement age in Vietnam
C. How to solve the aging population in Vietnam
D. Vietnam struggling with ageing population

Question 27. The word “its" in paragraph 1 refers to ?
A. aging population B. retirement age
C. economic integration D. two-Child policy

Question 28. Which statement is probably TRUE according to the information in the paragraph 1?
A. In 2015, the two-child policy has been officially tightened and succeeded

B. The government would promote families to have two children to compensate for the ageing
population within the next 20 years

C. In 2017, the elderly take up for one third of the total population, this leads to more concerns about
healthcare, welfare and pensions for the elderly

D. In the next 15-17 years, Vietnam's economy will need a large labor force to integrate with global
economy
Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

Question 29. We our quality time when the unexpected guess
A. had /came B. were having /came
C. had been having / came D. have had/ would have come

Question 30. Hung was invited to Hoa's party. He wants to thank her for the lovely party.

2

Hung: "Thank you very much for a lovely party." — Hoa: “

A. You are welcome. B. Thanks. C. Have a good day! D. Cheers.
Question 31. At 10 a.m. yesterday, we around Ha Long Bay.

A. sail B. sailed C. sailing D. were sailing
Question 32. In _ rush hour in Ha Noi, it's more convenient to travel by motorbike than to
take taxi.
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A. an/ X B.a/x C. the/ a D. x/ the

Question 33. It is important that he  to the director of the programme.

A. would speak B. speak C. should speak D. speaks
Question 34. Last night, we __ for you for ages but you never __ up.

A. would wait / showed B. waited/ showed

C. waited / was showing D. were waiting / were showing
Question 35. John opened his backpack and his camera out for some photos of Thac Bac
Waterfall.

A. took B. was taking C. had taken D. takes
Question 36. The monk insisted that the tourists  the temple until they had removed their shoes.

A. don't enter B. not enter C. not entering D. not to enter
Question 37. Poor people in big cities still have to deal with many problems.

A. day-to-day B. weather-beaten C. thought-proving D. wide-ranging
Question 38. My friend Brian is a Scot. On _ special occasions, he wears  kilt and plays the
bagpipe.

A.x/a B. x/ the C.an/x D.a/x
Question 39. [Phone 15 is the latest in the field of smartphone design of Apple.

A. creativity B. create C. creator D. creation
Question 40.Is  United Arab Emirates part of South Asia or  Middle East?

A. The / the B.A/a C. A/the D. A/O
Question 41. After winning the MasterChef competition, Christine Ha gained a(n) asa

first-class cook.

A. fame B. reputation C. achievement D. maintenance
Question 42. Liz is telling Andrew about her first novel.

2

Liz. "Guess what? My first novel has just been published.” — Andrew.

A. It's very kind of you. B. Congratulations!

C. It's my pleasure. D. Better luck next time!
Question 43. Kangaroos are found onlyin  Australia.

A. the B. O C. any D.a
Question 44. Bill Gates has made large donations to numerous  organizations.

A. charitable B. charitably C. charities D. charity
Question 45. Mrs. Smith demanded that the heater  immediately. Her apartment was freezing.
A. repaired B. be repaired C. repair D. to repair

Question 46. My favourite pastime is playing  guitar, but my best friend prefers playing tennis.

A. the B. 0 C. an D.a
Question 47. It is necessary that you  able to come with us.

A. being B. are C. be D. to be
Question 48. When Tom me yesterday, | the washing-up in the kitchen, so I the
phone.

A. called / did / did not hear B. had called / was doing / did not hear

C. was calling / was doing / did not hear D. called / was doing / did not hear
Question 49. I can't believe she didn't do anything for the company. I will  and be in charge.

A. take up B. take over C. take in D. take on
Question 50. The talk was long and overloaded with useless information, so I switched

A.in B. off C. with D. for

------ THE END ------
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Hovaténhocsinh:............oooiiiiiiiiiieeeeeeeee . LOPa SBD............

Mark the letter A, B, C or D to indicate the underlined part that needs correction in each of the
following questions.
Question 1. The teacher demanded that the classroom be cleaning immediately.

A. that B. immediately C. The D. be cleaning
Question 2. The biggest problem with eating too much sugar is that it can cause the diabetes.

A. The B. much C. that D. the diabetes
Question 3. The tourists was leaving the hotel at 6 p.m. to take a bus to Angkor Wat.

A. at B. The C.to D. was leaving
Question 4. We returned from a two-week holiday in a Philippines and Indonesia.

A. returned B. a Philippines C. a two-week D. from
Question 5. While Jean drove, Sarah was giving directions from her mobile phone GPS.

A. directions B. drove C. her D. was giving

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks .

I was an MBA student in the USA and I lived in the university’s coed dormitory. In my culture,
usually, if a woman talks to a man, it is a sign of romantic interest. (6) , in the first few days of
school, I found it strange that so many women (7) to me and I was under the impression that some
women on my dormitory floor were interested in me. To return their politeness, I would buy them flowers
or offer small gifts, as is done in my country. However, [ was quite surprised were talking that these same
women now seemed (8) around me. One was even quite offended and told me to leave her
alone. Eventually I talked to the residence adviser on my floor to see what I was doing wrong, and he
explained to me the way men and women usually interact in the USA. I was quite relieved to hear that
nothing was wrong with me, but rather with the way I was interpreting my conversations with women.

Even though I did not find the love of my life while I was in (9) USA, I still made many good
female friends afterwards (10) I still maintain contact.

Question 6. A. However B. Moreover C. Therefore D. Otherwise

Question 7. A. exciting B. uncomfortable  C. amazing D. surprising

Question 8. A. seeing B. to see C. sees D. saw

Question 9. A. an B. X C. the D.a

Question 10. A. who B. whom C. to whom D. with whom

Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined
word(s) in each of the following questions.
Question 11. She was brought up in the slums of Leeds.

A. poor area B. downtown area C. rural area D. industrial area
Question 12. She's a down-to-earth woman with no pretensions.
A. practical B. ambitious C. creative D. idealistic

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest in meaning
to each of the following questions.
Question 13. She must find it important to take two medicines every day.

A. It is important that be taken two medicines every day.

B. It is important that she had taken two medicines every day.
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C. It is important that she take two medicines every day.
D. It is important that she takes two medicines every day.

Question 14. Father was watching TV and mother was reading a magazine.
A. Father watched TV while mother read a magazine.

B. Father was watching TV while mother read a magazine.
C. Father was watching TV when mother read a magazine.
D. Father was watching TV while mother was reading a magazine.

Question 15. The man demanded to be told everything about the accident.
A. The man demanded that everything about the accident tell.

B. The man demanded that everything about the accident had told.
C. The man demanded that everything about the accident told.
D. The man demanded that everything about the accident should be told.

Question 16. She was reading a book and the man came in.
A. She was reading a book when the man came in.

B. She was reading a book then the man came in.
C. When she was reading a book and the man came in.
D. While she was reading a book and the man came in.

Question 17. A car hit the fence of my garden. I was cleaning the swimming pool.
A. A car hit the fence and I was cleaning the swimming pool.

B. [ was cleaning the swimming pool when a car hit the fence.
C. While a car hit the fence I was cleaning the swimming pool.
D. I was cleaning the swimming pool then a car hit the fence.

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined
word(s) in each of the following questions.
Question 18. In recent years, Madonna has continued to tour, release albums and engage in humanitarian

work.
A. take part in B. throw oneself into
C. have a hand in D. become uninvolved in

Question 19. Many people move to urban areas seeking for job opportunity as well as stable
employment.
A. temporary B. steady C. long-lasting D. durable

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.

Vietnam’s population is ageing quickly. In 2017, more than 10 per cent of the population will be 60
and older, and in 15-20 years the elderly will account for one third of the total population. This raises
concerns about healthcare, welfare and pensions for the elderly at a time when Vietnam is focusing on
economic integration and requires a large labor force. So far two solutions have been proposed: to loosen
the two-child policy and to increase the retirement age to 58 for women and 62 for men. By ending the
two-child policy the government expects to make up for the ageing population within the next 20 years.
But its effect could be creating an uncontrollable boom in the Vietnamese population. When the
government loosened the two-child policy in 2015 in a trial period, in the first 6 months of 2016 the third
child birth rate increased remarkably by 7.5 per cent.

Raising the retirement age has been proposed by the Ministry of Labor pending parliamentary
evaluation in May 2017. While the policy is beneficial in utilizing the work experience of the elderly
while creating savings in the pension budget, it also means fewer job prospects and promotion
opportunities for younger generations. It is also not in the interest of all the elderly, especially the 70 per
cent of Vietnam's labor force working in manual labor-intensive sectors such as agriculture,
manufacturing and construction where working above the age of 50 can be dangerous and unproductive.
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Despite these drawbacks, raising the retirement age is still considered by policymakers as one of the key
solutions to the ageing population problem in Vietnam. However, these are only temporary solutions.

Question 20. The word "temporary" in paragraph 2 means .
A. short-term B. long-term C. constant D. permanent

Question 21. The best title for this passage could be
A. How to solve the aging population in Vietnam

B. Vietnam struggling with ageing population
C. Raising the retirement age in Vietnam
D. Stopping the two-child policy in Vietnam

Question 22. Which statement is probably TRUE according to the information in the paragraph 1?
A. In the next 15-17 years, Vietnam's economy will need a large labor force to integrate with global

economy.

B. In 2017, the elderly take up for one third of the total population, this leads to more concerns about
healthcare, welfare and pensions for the elderly.

C. In 2015, the two-child policy has been officially tightened and succeeded.

D. The government would promote families to have two children to compensate for the ageing
population within the next 20 years.

Question 23. The word “its" in paragraph 1 refers to ?
A. retirement age B. economic integration
C. two-Child policy D. aging population

Question 24. In the 2rd paragraph, the writer suggests that .
A. The elderly whose age is 50 would be dangerous if they continued to work

B. The Ministry of Labor has applied raising the retirement age in May 2017

C. Raising the retirement age and stopping two-child policy can be considered as long-term and
effective solutions

D. Raising the retirement age can reduce job opportunities for younger generations

Mark the letter A, B, C or D to indicate the word that differs from the other three in the position of
the primary stress in each of the following questions.

Question 25. A. sanitation B. phonetician C. exacerbate D. inhabitant
Question 26. A. estimate B. prestigious C. proportion D. urbanity

Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.
Question 27. I can't believe she didn't do anything for the company. I will  and be in charge.

A. take over B. take in C. take up D. take on
Question 28. The monk insisted that the tourists _ the temple until they had removed their shoes.

A. not to enter B. don't enter C. not enter D. not entering
Question 29. Last night, we ____ for you for ages but younever ___ up.

A. would wait/showed B. were waiting /were showing

C. waited / showed D. waited/was showing
Question 30. Kangaroos are found only in _ Australia.

A. the B.a C.o D. any
Question 31. Poor people in big cities still have to deal with many problems.

A. weather-beaten B. day-to-day C. thought-proving D. wide-ranging
Question 32. At 10 a.m. yesterday, we around Ha Long Bay.

A. sailed B. were sailing C. sail D. sailing
Question 33. John opened his backpack and his camera out for some photos of Thac Bac
Waterfall.

A. took B. had taken C. was taking D. takes
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Question 34. When Tom me yesterday, I the washing-up in the kitchen, so I the

phone.
A. was calling / was doing / did not hear B. had called / was doing / did not hear
C. called / did / did not hear D. called / was doing / did not hear

Question 35. Hung was invited to Hoa's party. He wants to thank her for the lovely party.

Hung: "Thank you very much for a lovely party." — Hoa: * ”

A. You are welcome. B. Thanks. C. Cheers. D. Have a good day!
Question 36. In rush hour in Ha Noi, it's more convenient to travel by motorbike than to
take  taxi.

A. the/ a B. an/ x C.a/x D. x/ the

Question 37. Liz is telling Andrew about her first novel.

2

Liz. "Guess what? My first novel has just been published.” — Andrew. “

A. Congratulations! B. It's my pleasure.

C. Better luck next time! D. It's very kind of you.

Question 38. My friend Brian is a Scot. On _ special occasions, he wears  kilt and plays the
bagpipe.

A.x/a B. x/ the C.an/x D.a/x
Question 39. My favourite pastime is playing  guitar, but my best friend prefers playing tennis.

A. O B. the C.an D.a
Question 40. Bill Gates has made large donations to numerous __ organizations.

A. charitably B. charity C. charities D. charitable
Question 41. The talk was long and overloaded with useless information, so I switched

A. with B. off C. for D. in
Question 42. It is necessary that you  able to come with us.

A. are B. being C. be D. to be
Question 43. After winning the MasterChef competition, Christine Ha gained a(n) asa
first-class cook.

A. maintenance B. achievement C. fame D. reputation
Question 44.Is  United Arab Emirates part of South Asiaor  Middle East?

A.A/a B. A /the C. The / the D. A/O
Question 45. We our quality time when the unexpected guess .

A. had been having / came B. were having / came

C. have had / would have come D. had / came
Question 46. Mrs. Smith demanded that the heater  immediately. Her apartment was freezing.

A. be repaired B. repaired C. repair D. to repair
Question 47. It is important thathe ~ to the director of the programme.

A. should speak B. speaks C. speak D. would speak
Question 48. [Phone 15 is the latest in the field of smartphone design of Apple.

A. creator B. creativity C. create D. creation

Mark the letter A, B, C or D to indicate the word whose underlined part differs from the other
three in pronunciation in each of the following questions.
Question 49. A. scale B. migrate C. lasting D. populated

Question 50. A. identify B. illustrate C. inaccurate D. agricultural
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(khéng ké thoi gian phat dé)

HO VA I oo S béo danh: ... Ma dé 101

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part
differs from the other three in pronunciation in each of the following questions.

Question 1. A. attracted B. arrested C. approached D. attended
Question 2. A. attracts B. installs C. enjoys D. joins

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to
complete each of the following questions.

Question 3. David and Helen are in the schoolyard.

David: “You’ve got a beautiful jacket!” — Helen: J
A. You, too B. Thanks for your compliment
C.Ido D. Okay

Question 4. Peter and Mary are talking about love and marriage.
Marry: I think that a happy marriage should be based on love

Peter: . Love plays an important part in our marriage.
A. I can’t agree more. B. It is out of question.
C. I don’t think so. D. .No way !

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other
three in the position of the primary stress in each of the following questions.

Question 5. A. confide B. waving C. polite D. precede

Question 6. A. certificate B. curriculum C. independent D. compulsory

Mark the letter A, B, C, or D on your answer sheet to Indicate the word or phrase that is
OPPOSITE in meaning to the underlined part in each of the questions.

Question 7. Certain courses are compulsory; others are optional.

A. free B. mandatory C. voluntary D. pressure
Question 8. It will take more or less a month to prepare for the wedding.
A. generally B. simply C. precisely D. approximately

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks from 9 to 13

On December 10, 2006, I was going through some hard time. The landlady did not want to release
the house any more so [ had to move and only had one month to find a place. Because Christmas was
coming and it was difficult for me to (9) a suitable accommodation. I had only some money (10)

. I could not buy a Christmas tree and some presents for my three boys, (11) I had to use the

money to find a place to live. To me, it broke my heart as I could not prepare the Christmas for my three
boys. I have been their only parent since my husband passed away two years ago. I was so sad and
everything was getting on my nerves. Although I managed to solve the problem myself I could not help
telling my sons about the things. When I suddenly woke up at midnight, I found my eldest son was sitting
(12) me. He kissed me and said, "Don't worry, Mum. We love you very much and always stand by
you whatever happens." At the moment I started weeping, grabbed him and kissed him. His words and
love made me forget all about what I was stressing about.

In fact ever since that moment, I have realized that I can overcome any problems thanks to my sons'
love. The most important thing of my life is that my boys are safe and healthy, and they bring me joy all

the time. The memory (13) me that nothing really matters, when I have the love of my children.
Question 9. A. notice B. find C. see D. watch

Question 10. A. left B. to leave C. leaving D. leave

Question 11. A. because B. if C. although D. as though
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Question 12. A. by B. over C.up D. next

Question 13. A. reminds B. remembers C. minds D. misses

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions

Question 14. Many young people have objected to marriage, which is decided by the
parents of the bride and groom

A. romantic B. agreed C. contractual D. sacrificed
Question 15. John cannot make a to get married to Mary or stay single until he can afford a house
and a car.

A. decisive B. decision C. decide D. decisively
Question 16. The boss.................. because he was always behind the deadline.

A. suggested him to dismiss B. threatened him to dismiss

C. threatened to dismiss him D. promised to dismiss him
Question 17. Soon, people ...................... most of the time at home.

A. have worked B. worked C. will work D. work
Question 18. The weather generally ........... quite hot in July and August.

A. get B. gets C. is getting D. got
Question 19. With greatly increased workloads, everyone is pressure now.

A. out of B. upon C. above D. under
Question 20. In the 19" century, It ................ two or three months to cross North America by covered
wagon.

A. took B. had taken C. was taking D. has taken
Question 21. When we are in a class , it is expected that we .......... our hand when we have something to
say or have a question to ask.

A. raise B. increase C. arise D. rise
Question 22. [ do not think thereisareal  between men and women at home as well as in society.

A. attitude B. measurement C. value D. equality
Question 23. The ......... year in Vietnam usually starts in September.

A. ordinary B. academic C. free D. open
Question 24. Jason asked me me the book the day before.

A. who had given B. if who gave

C. that who had given D. if who has given
Question 25. When they .............. at the station, the train....................

A. already had arrived/ left B. arrived/ had already left

C. had already arrived/ left D. arrived/ left

Mark the letter A, B, C, or D on your answer sheet to indicate the underlined part that needs
correction in each of the following questions.
Question 26. Peter said that he lived in London four years before.

A. lived B.in C. before D. that
Question 27. Lots of houses destroyed by the earthquake last year.
A. by B. destroyed C. Lots of D. earthquake

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions
Question 28. "Let’s go for a walk. We've been working all day,” said Joanna.
A. Joanna insisted on going for a walk because they had been working all day.
B. Joanna suggested going for a walk because they have been working all day.
C. Joanna suggested going for a walk because they had been working all day.
D. Joanna suggested going for a walk because she had been working all day.
Question 29. My father bought that car in USA last year.
A. That car was bought by my father in USA last year.
B. That car was bought in USA last year.
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C. That car was bought in USA by my father last year.
D. That car was bought last year in USA by my father.
Question 30. People report that more than twenty victims were injured in the earthquake last week.
A. It was reported that more than twenty victims were injured in the earthquake last week.
B. More than twenty victims are reported to have been injured in the earthquake last week.
C. More than twenty victims are reported to be injured in the earthquake last week.
D. More than twenty victims were reported to have injured in the earthquake last week.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each
pair of sentences in the following questions
Question 31. He bought a cell phone. First he checked the price.
A. He had bought a cell phone before he checked the price.
B. He bought a cell phone after he had checked the price.
C. Before he checked the price, he bought a cell phone.
D. After he checked the price, he had bought a cell phone.
Question 32. Someone knocked on the door last night. We were having dinner at that time.
A. We were having dinner when someone was knocking the door
B. When we had had dinner, someone knocked on the door
C. We had dinner when someone knocked on the door.
D. We were having dinner when someone knocked on the door.
Question 33. I left the office. There was a power cut just then.
A. 1 left the office long before there was a power cut.
B. No sooner had I left the office than there was a power cut.
C. Hardly I had left the office when there was a power cut.
D. I left the office after there was a power cut.

Mark the letter A, B, C, or D on your answer sheet to indicate the word or phrase that is CLOSEST
in meaning to the underlined words in each of the following questions
Question 34. We could just see the train approaching the station.

A. leaving B. coming near C. retreating D. attacking
Question 35. In England, a school year is divided into three semesters.
A. categories B. terms C. systems D. levels

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.
BODY LANGUAGE AND CULTURAL DIFFERENCES

The body language people use often communicates more about their feelings than the words they
are saying. We use body movements, hand gestures, facial expressions, and changes in our voice to
communicate with each other. Although some body language is universal, many gestures are culturally
specific and may mean different things in different countries.

If you want to give someone the nod in Bulgaria, you have to nod your head to say no and shake it
to say yes — the exact opposite of what we do! In Belgium, pointing with your index finger or snapping
your fingers at someone is very rude.

In France, you shouldn’t rest your feet on tables or chairs. Speaking to someone with your hands
in your pockets will only make matters worse. In the Middle East, you should never show the soles of
your feet or shoes to others as it will be seen as a grave insult. When eating, only use your right hand
because they use their left hands when going to the bathroom.

In Bangladesh, the ‘thumbs-up’ is a rude sign. In Myanmar, people greet each other by clapping,
and in India, whistling in public is considered rude.

In Japan, you should not blow your nose in public, but you can burp at the end of a meal to
show that you have enjoyed it. The ‘OK’ sign (thumb and index finger forming a circle) means
‘everything is good’ in the West, but in China it means nothing or zero. In Japan, it means money, and
in the Middle East, it is a rude gesture.

Question 36. 1.1t is mentioned in the passage that many gestures_ ...............
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A. are not used to communicate our feelings

B. are used in greeting among men and women

C. may mean different things in different countries

D. can be used to greet each other in public
Question 37. .People nod their head tosay noin .......................... .

A. France B. Bulgaria C. Japan D. Belgium
Question 38. In the Middle East, people do not use their left hands for eating because they use their left
hands ..o, .

A. when preparing the meal B. to clean their tables and chairs

C. to put in their pockets D. when going to the bathroom
Question 39. Which of the following is NOT true according to the passage?

A. In Myanmar, people greet each other by clapping

B. In China, the ‘OK’ sign means money

C. In Belgium, snapping your fingers at someone is very rude.

D. In France, people shouldn’t rest their feet on tables.

Question 40. The word “others” in paragraph 3 refers to_........................ .
A. other feet B. other people C. other shoes D. other soles

——- THE END ——-
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Cau(101,104,107,110,113,1{102,105,108,111,114|103,106,109,112,115,1
16,119,122 ,117,120,123 18,121,124
1 C B B
2 A A D
3 B C B
4 A B D
5 B C A
6 C B C
7 B D D
8 C A C
9 B C C
10 A D D
11 A B B
12 A B C
13 A B B
14 C B B
15 B B A
16 C B B
17 C A C
18 B C B
19 D B D
20 A D A
21 A A A
22 D A D
23 B C B
24 A B D
25 B C D
26 A B A
27 B A B
28 C A A
29 C B A
30 B C C
31 B A D
32 D A D
33 B C D
34 B C D
35 B B D
36 C C B
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37 B B C
38 D A A
39 B D D
40 B C B
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Thoi gian lam bai: 45 phut
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HO VA BN oo, Lop....... Ma dé 121

I/ PHAN TRAC NGHIEM

Choose the sentence that is closest in meaning to each of the following questions.
Question 1. It’s possible that she didn’t hear what I said.

A. She might have not heard what I said.

B. She may not hear what I said.

C. She might not hear what I said.

D. She may not have heard what I said

Choose the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in
the following questions.
Question 2. You are spending money recklessly. Others are saving.

A. You are spending money recklessly, or others are saving.

B. You are spending money recklessly, but others are saving.

C. You are spending money recklessly, so others are saving.

D. You are spending money recklessly, for others are saving.

Choose the word or phrase among A, B, C or D that needs correction.
Question 3. It is imperative that a graduate student maintains a grade point average of “B” in his major
field.

A. ltis B. maintains C. his D. of
Question 4. Farm living has always been susceptible to unpredictable environment conditions, and in
times of drought, flood or pestilence, survival may become extremely problematic.

A. environment B. problematic C. susceptible D. pestilence

Find the word which has a different sound in the part underlined.
Question 5. A. prestige B. congestion C. connect D. harvest
Question 6. A. realize B. peace C. rehear D. appear

Indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following
questions.
Question 7. There are plenty of potential toxins still being ignored, with less than half of the 5,000 new
chemicals widely dispersed throughout the environment since 1950.

A. immortal particles B. safe matters

C. harmless compounds D. poisonous substances

Read the passage, and choose the correct answer A, B, C or D for each question.

Overpopulation, the situation of having large numbers of people with too resources and too little
space, is closely associated with poverty. It can result from high population density, or from low amounts
of resources, or from both. Excessively high population densities put stress on available resources. Only a
certain number of people can be supported on a given area of land, and that number depends on how
much food and other resources the land can provide. In countries where people live primarily by means of
simple farming, gardening, herding, hunting and gathering, even large areas of land can support only
small numbers of people because these labor-intensive subsistence activities produce only small amounts
of food.

In developed countries such as the United States, Japan and the countries of Western Europe,
overpopulation generally is not considered a major cause of poverty. These countries produce large
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quantities of food through mechanized farming, which depends on commercial fertilizers, large-scale
irrigation and agricultural machinery. This form of production provides enough food to support the high
densities of people in metropolitan areas.

A country's level of poverty can depend greatly on its mix of population density and agricultural
productivity. Bangladesh, for example, has one of the world's highest population densities, with 1,147
persons per sq. km. A large majority of the people of Bangladesh engage in low-productivity manual
farming, which contributes to the country's extremely high level of poverty. Some of the smaller countries
in Western Europe, such as the Netherlands and Belgium, have high population densities as well. These
countries practice mechanized farming and are involved in high-tech industries, however, and therefore
have high standards of living.

At the other end of the spectrum, many countries in sub-Saharan Africa have population densities
of less than 30 persons per sq. km. Many people in these countries practice manual subsistence farming;
these countries also have infertile land, and lack the economic resources and technology to boost
productivity. As a consequence, these nations are very poor. The United States has both relatively low
population density and high agricultural productivity, it is one of the world's wealthiest nations.

High birth rates contribute to overpopulation in many developing countries. Children are assets to
many poor families because they provide labor, usually for farming. Cultural norms in traditionally rural
societies commonly sanction the value of large families. Also, the governments of developing countries
often provide little or no support, financial or political, for family planning; even people who wish to keep
their families small have difficulty doing so. For all these reasons, developing countries tend to have high
rates of population growth.

Question 8. The phrase "engage in" in paragraph 3 is closest in meaning to

A. participate in B. look into C. give up D. escape from
Question 9. Which of the following is given a definition in paragraph 1?

A. Overpopulation B. Simple farming

C. Population density D. Poverty

Question 10. Bangladesh is a country where the level of poverty depends greatly on .
A. both population density and agricultural productivity
B. its high agricultural productivity
C. its population density only
D. population density in metropolitan areas
Question 11. The phrase "that number" in paragraph 1 refers to the number of .
A. people B. resources C. densities D. countries
Question 12. In certain countries, large areas of land can only yield small amounts of food because
A. there is an abundance of resources
B. there is no shortage of skilled labor
C. there is lack of mechanization
D. there are small numbers of laborers

Mark the letter A, B, C, or D to indicate the correct answer to each of the following sentences.

Question 13. At the end, everyone cleaned up the whole room, I had not expected
before.

A. that B. where C. which D. what
Question 14. We had dinner in a restaurant.

A. the B. X (no article) C.an D.a
Question 15. Soot comes from the  combustion of fossil or other fuels.

A. incomplete B. complete C. completion D. incompletion
Question 16. Due to dumping of sewage from factories in water bodies, water pollution often results
___ ofepidemics.

A. breakout B. out breakings C. breaking outs D. outbreaks
Question 17. Unemployment and poverty force people to in anti-social activities.

A. engage B. oppose C. include D. take
Question 18. I suggest that John the directions carefully before assembling the bicycle.

A. read B. to read C. reading D. have read
Question 19. My brother =~ at the road whenhe  into a hole
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A. wasn't looking/ fell B. wasn't looking /was falling
C. didn't look/ has fallen D. won't look/ fall

Choose the word or phrase among A, B, C or D that best fits the blank space in the following
passage.
SUSTAINABLE CITIES: A CLEANER FUTURE

For the past few decades, there has been an urbanization trend around the world, where more and
more people are moving to cities. Since 2009, the UN Habitat (20) that over 3 million people are
moving into cities every week. Urban areas have been an attractive destination for migrants in
anticipation of finding a better job and a higher (21)  living.

While migrants contribute immensely to the economies of cities, ever-increasing populations
raise issues of congestion, (22)  of resources, and increased pressure on waste management
infrastructure, healthcare, and education. By 2050, it is estimated that 70% of the world's population will
live in cities which makes the concept of Sustainable Cities an efficient resolution to the growing
population.

Therefore , Sustainable Cities have an essential role in the urbanization trend to improve residents
lives by focusing on environmental initiatives and projects such as limiting CO2 gas emissions in the air,
using renewable energy sources, or bringing awareness to environmental issues. With outdoor pollution

killing over 3 million lives yearly, (23)  in cities, it is evident that urbanization can increase the
environmental (24)  upon cities. Many cities around the world have redesigned their city planning
strategies and commenced initiatives to target these issues directly.

Question 20. A. estimates B. claims C. counts D. expects
Question 21. A. standard of B. cost of C. tax of D. reason for
Question 22. A. collection B. distribution C. solution D. reputation
Question 23. A. almost B. mostly C. the most D. equally
Question 24. A. affect B. drawback C. effect D. cause

Choose the word which has a different stress pattern from the others.

Question 25. A. transformation  B. urbanization C. population D. revolution
Question 26. A. delay B. climate C. deplete D. remove

II/ PHAN TU LUAN

Rewrite these sentences as directed
1.We really must discuss this again.
It’s important that
2.We last saw each other nearly two years ago

We

Rewrite these sentences, using relative clauses
He bought her flowers and diamond rings. This action made her fall in love with him.

Make compound sentences using the conjunctions in brackets

Your computer may go to sleep. It's still consuming energy. (but)
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I/ PHAN TRAC NGHIEM
Mark the letter A, B, C, or D to indicate the correct answer to each of the following sentences.

Question 1. The local university has recently introduced to students several ways to go green,  has
had huge impact on the community.

A. where B. which C. what D. that
Question 2. We to the hospital to visit Mike when he to say that he was fine.

A. were driving /called B. drove /was calling

C. were driving / was calling D. drove /called
Question 3. A(n)  friend never tells lies to his friends.

A. truthful B. truly C. untrue D. true
Question 4. Tran Hung Dao was a great  to lure the enemy to enter deeply into his land, then
attacked to destroy them.

A. soldier B. strategy C. strategist D. king
Question 5. It’s important that he to take her medicine twice a day

A. remembering B. remember C. remembered D. to remember
Question 6. Environmentalists are worried that our natural resources will _ if we don't take initiative
to go green.

A. deprive B. end C. run D. deplete
Question 7. What would you like to have for lunch?

A. an B. the C. X (no article) D. a

Read the following passage and mark the letter A, B, C, or D to indicate the correct answer to each
of the questions.

Beethoven was born in Bonn, Germany, in 1770. His childhood was unhappy. His father drank too much.
Beethoven's musical talent was obvious from childhood. He quickly became a talented performer on the
piano. In 1792, he moved to Vienna, Austria, to study with Austrian composer Joseph Haydn. Soon
Beethoven was playing music that he wrote himself. Many people admired his powerful, dramatic
music.Beethoven was often ill or depressed. He was unable to find a woman who would marry him. Just
as he was becoming very successful, he started to lose his hearing. Deafness is the worst fate for a
musician. Beethoven's performing career was over.

Despite Beethoven's hearing loss, he still wrote music. The music he wrote became even better. His
music was richly expressive and revealed feelings such as joy and sadness. He created one bold
masterpieceafter another. Besides piano music, Beethoven wrote string quartets (pieces for four stringed
instruments) andother kinds of chamber music. Chamber music is written for small groups, and people
can play it in their homesor in small halls. Beethoven also wrote songs, two masses, an opera, and nine
outstanding symphonies.

Beethoven studied works by Haydn, German composer Johann Sebastian Bach, and Austrian composer
Wolfgang Amadeus Mozart. Then he broke their rules and made music that was like no one else's. It was
emotional and challenging. Beethoven wanted his music to express ideas as well as emotions. He wanted
it to praise freedom and equality and other high ideals.

Some of Beethoven's well-known achievements are the Moonlight Sonata for piano, the Fifth
Symphony, and the Ninth Symphony. The Fifth Symphony has a famous four-note opening, da-da-da-
dum. The Ninth Symphony ends with a triumphant chorus called "Ode to Joy." Beethoven's music set a
standard that later composers measured their work by. Crowds loved him and adored his music.
Beethoven was famous, although not happy. In 1827, he got pneumonia and died in Vienna.

Question 8. Which of the following is true about Beethoven's music according to the reading?
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A. It helped Beethoven enjoy a life with luxuries and comforts.
B. It expressed ideas and emotions, praised freedom and equality.
C. It set a standard by which all other composers measured their work.
D. It was strongly affected by that of other famous musicians.
Question 9. The phrase "was over" in the passage mostly means
A. finished B. remained C. completed D. started
Question 10. Which of the following best describes Beethoven's life according to the passage?
A. emotional, dramatic, and outstanding
B. talented, outstanding, and successful
C. unhappy, stressful, but successful
D. talented, powerful and challenging
Question 11. What happened after Beethoven lost his hearing according to the passage?
A. His music became more and more impressive and emotional.
B. He started writing music for his own performance only.
C. His music was better, more impressive and varied in types.
D. He became a famous talented performer on the piano.
Question 12. The word "Crowds" in the passage mostly refers to
A. performers B. music composers C. audience D. small groups

Choose the word or phrase among A, B, C or D that best fits the blank space in the following
passage.
GREEN ENERGY

Fossil fuels are used to generate the majority of the world's energy, and they come in different
forms. For example, coal may be burned in a power (13)  to generate electricity, but gasoline is
burned in a car's engine to make it run. Neither of these two sources is considered green energy because
they produce a lot of pollution when they are burned. In addition, they come from a source that is
inevitably going to (14) .

Green energy can be defined as any energy source that is to some degree non-polluting. When it is
called (15)  , this means that a person can replace the same amount of energy that was consumed by
that person (16)  that person's lifetime. Since it took millions and millions of years to create the fossil
fuels that we now burn, we know that they cannot be replaced by us.

Wind power and solar power, (17)  harnessed properly, are two excellent sources of green
energy. Once the necessary parts such as wind turbines to generate wind power and solar panels to create
solar power have been produced, only the pollution from the production is left.

Question 13. A. point B. factory C. outlet D. plant
Question 14. A. burn out B. run out C. run out of D. cut out
Question 15. A. effective B. harmful C. durable D. sustainable
Question 16. A. during B. along C. about D. within
Question 17. A. where B. when C. what D. which
Choose the word which has a different stress pattern from the others.

Question 18. A. discovery B. commodity C. difficult D. simplicity
Question 19. A. philosophy B. misfortune C. dedicate D. paralysis

Choose the word or phrase among A, B, C or D that needs correction.
Question 20. It is necessary that one met with a judge before signing the final documents for a divorce.

A. met B. before signing C. for a divorce D. necessary
Question 21. The air in this city contains a lot of harm gases, which may do harm to the citizens.
A. which B. harm C. contains D. the citizens

Indicate the word(s) CLOSEST in meaning to the underlined word(s) in each of the following

questions.
Question 22. They all encouraged my creativity and inspired me in many ways.
A. rejected B. disappointed C. overlooked D. motivated
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Find the word which has a different sound in the part underlined.
Question 23. A. alive B. amputate C. impact D. talented
Question 24. A. clean B. beach C. beaten D. create

Choose the letter A, B, C, or D to indicate the sentence that best combines each pair of sentences in
the following questions.
Question 25. Laura didn't know many people at the party. She felt uncomfortable.

A. If Laura knew many people at the party, she wouldn't feel uncomfortable.

B. Laura felt uncomfortable, for she knew few people at the party.

C. Because Laura felt uncomfortable, she didn't know many people at the party.

D. Provided that Laura had known many people at the party, she would have felt uncomfortable.

Choose the sentence that is closest in meaning to each of the following questions.
Question 26. It’s important that you pay attention to the lecture.

A. You must pay attention to the lecture.

B. You needn’t pay attention to the lecture.

C. You can pay attention to the lecture.

D. You shouldn’t pay attention to the lecture.

II/ PHAN TU LUAN
Rewrite these sentences, using relative clauses.

They have cleaned the mould from the walls. This has resulted in fewer asthma attacks.

Make compound sentences using the conjunctions in brackets

Earthquakes are one of the scariest natural phenomena. They are so unpredictable. (because)

Rewrite these sentences as directed
1.All students must attend the meeting.

It is essential that

2.The last time I saw her was three years ago.

I

M3 dé 122 Page 3/3

Follow fanpage dé nhan thém céc tai liéu doc quyén
https://www.facebook.com/Hocmai.vnTHPT



DPé\cau

121
123
122
124

1

U WwWOo

N

> 2> w

w
EaN
()]
»

O>0
wo>>r
>WwWwo
0Wwow

Follow fanpage dé nhan thém céc tai liéu doc quyén
https://www.facebook.com/Hocmai.vnTHPT

\l

OO0

(o]

O wo >



©

>>0>

o>

> 00>

12 13 14 15
C C B A
B B B C
C D B D
C A D B

Follow fanpage dé nhan thém céc tai liéu doc quyén
https://www.facebook.com/Hocmai.vnTHPT

OO0OwWo

o wWw >



OO0 >»

W oOo>r

>>w>

21 22 23 24
A B B C
C B C C
B D A D
B B D C

Follow fanpage dé nhan thém céc tai liéu doc quyén
https://www.facebook.com/Hocmai.vnTHPT

>WwWww

N

6

>>00



DAP AN DE KIEM TRA GIUA HQC Ki I
NAM HOC 2023 - 2024
MON: TIENG ANH 12
ANSWERS 121+123
He bought her flowers and diamond rings, WHICH made her fall in love with him.
Your computer may go to sleep, BUT it's still consuming energy
It’s important that we (should) discuss this again.

We haven't seen each other for nearly two years now

ANSWERS 122+124

They have cleaned the mould from the walls, WHICH has resulted in fewer asthma
attacks

Earthquakes are one of the scariest natural phenomena BECAUSE they are

so unpredictable.

It is essential that all students (should) attend the meeting.

I have not seen her for three years.
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Ma dé 001

Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined
word(s) in each of the following questions.
Cau 1: After getting lost in the unfamiliar city, he lost his bearings and had no idea how to get
back to his hotel.

A. behaved impolitely

B. was unable to determine the direction

C. regained his sense of direction
D. found his hotel

Cau 2: This restaurant was highly recommended for good service, delicious food and kind-hearted
boss.

A. attentive and helpful B. generous and gracious

C. ambitious and greedy D. polite and friendly
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning
to the underlined word(s) in each of the following questions.

Cau 3: She was brought up in a well-off family. She can't understand the problems we are facing.
A. kind B. wealthy C. broke D. poor

Cau 4: There has been a hot debate among the scientists relating to the pros and cons of using
robotic probes to study distant objects in space.

A. advantages and disadvantages

B. causes and effects

C. problems and solutions

D. solutions and limitations
Read the following passage and mark the letter A, B, C or D to indicate the correct answer to

each of the questions.
The increase in urbanization causes different problems. Air and water pollution are amongst the
major issue we have to tackle.

In the first place, cars, factories and burning waste emit dangerous gases that change the air
quality in our cities and pose threats to our health. Dangerous gases such as carbon dioxide and
nitrogen oxides cause respiratory diseases, for instant, bronchitis and asthma. Those are also proved
to have long-term effects on the environment.

Furthermore, with the increased population, it becomes difficult to manage the waste generated in
cities. Most of the waste is discharged or dumped into rivers or onto streets. The waste pollutes
water and makes it unfit for human consumption. Subsequently, it becomes more and more difficult
for city dwellers to get clean water. Some cities in Africa are unable to provide adequate water
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supply because most of the water is lost in pipe leakages. In fact, most city dwellers in developing
countries are forced to boil their water or to buy bottled water, which is very expensive.

There are several actions that could be taken to eradicate the problems described above. Firstly, a
simple solution would be joining community efforts to address problems affecting your city. Ask
your parents, friends and relatives to join in as well. These efforts might include clean-up campaigns,
recycling projects and a signature campaign to ask the government to do something about the
situation. A second measure would be encouraging your teacher to talk about these problems and to
discuss how young people can help to solve them. Finally, writing to local organizations working on
these issues for ideas on how you can contribute to solve them.

Cau 5: According to the passage, in some cities in Africa .................

A. people aren't provided enough water due to leaking pipes

B. people have found some solutions to the problems

C. people would rather use boiling water and bottled water

D. people are allowed to dump waste into rivers and on streets
Cau 6: The word tackle in paragraph 1 is closest in meaning to .............

A. deal with B. try on C. make up D. turn down
Cau 7: The word those in paragraph 2 refers to ................

A. bronchitis and asthma
B. dangerous gases
C. respiratory diseases
D. carbon dioxide and nitrogen oxides
Cau 8: Which of the following is NOT true according to the passage?

A. People can contribute in solving the problems by writing to local organizations
working on these issues.

B. City problems should be taught and be topic for students to discuss at school.

C. Participators might take part in different kinds of projects and campaigns.

D. Children must ask for their parent's permission before joining community efforts.
Cau 9: Which of the following would serve as the best title for the passage?

A. Increasing urbanization: Causes and effects

B. Environment degradation: Air and water pollution

C. Environmental pollution: Problems and actions

D. Increasing urbanization: Effects and solutions
Mark the letter A, B, C, or D on your answer sheet to indicate the option that best completes each of
the following exchanges.

Cau 10: Linda and her friend are talking about environment.

Linda: “I think everyone should learn more about how to treat the environment well.”

A. T think so. B. That's terrible !
C. Idon’t think that. D. If you don't mind.
Cau 11: Teacher and Long are in the classroom.
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Teacher: “You should not leave the light on when you are away.”

A. Try me! B. You are right.

C. That's good idea D. OK, let's do it.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning toeach of the following questions

Cau 12: Rapid ups and downs in the number of students could be observed in June.
A. The number of students went up and then fell in June.
B. The number of students changed dramatically in June.
C. The number of students fluctuated wildly in June.
D. The number of students did not stay the same in June.
Cau 13: The last time [ went to the zoo was 5 years ago.
A. I started going to the zoo 5 years ago.
B. I last went to the zoo when [ was 5 years old
C. T haven’t been to the zoo for 5 years.
D. At last I went to the zoo after 5 years.
Cau 14: I think we should change the topic of our presentation.
A. It's high time that we change the topic of our presentation.
B. I suggest we to change the topic of our presentation
C. I'd rather our presentation change the topid
D. It's high time that we changed the topic of our presentation.
Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part
differs from the other three in pronunciation in each of the following questions.

Cau 15: A. leaf B. feature C. lead D. great

Cau 16: A. competed B. produced C. adopted D. needed

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part
differs from the other three in pronunciation in each of the following questions.

Cau 17: A. Offer B. repeat C. happen D. visit

Cau 18: A. achievement B. agricultual C. respectable D. distinguish

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines
eachpair of sentences in the following questions.

Cau 19: Laura can’t take part in the marathon. She is badly injured in a car accident.

A. If Laura weren’t badly injured in a car accident, she could take part in the marathon.
B. Without her bad injury in a car accident, Laura couldn’t take part in the marathon
C. If only Laura hadn’t been badly injured in a car accident, she could have taken part in the marathon.
D. Laura could take part in the marathon in case she were badly injured in a car accident.
Cau 20: The tree has lovely flowers. The tree stands near the gate of my house.
A. The tree which stands near the gate of my house has lovely flowers.
B. The tree has lovely flowers which stands near the gate of my house
C. The tree, which stands near the gate of my house, has lovely flowers.
D. The tree has lovely flowers, which stands near the gate of my house

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Cau 21: I usually donate my old clothes to people who are homeless, ............. are very
appreciative.
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A. most of them B. all of which

C. most of which D. most of whom
Cau 22: Urbanisation happened first in more .................. developed countries.
A. economically B. economist C. economical D. economic
Cau 23: [ requested that first-year students ............. to change their courses in the first two weeks.
A. be permitted B. are permitted
C. would be permitted D. were permitted
Cau 24: After the children finished their dinner, they went to bed ....... listened to a bedtime story
before falling asleep.
A. so B. and C. while D. that
Cau 25: It is important to keep ourselves clean .......... germs can cause infections in parts of our
body.
A. unless B. while
C. because D. although

Cau 26: The traffic congestion combined with the large concentration of factories has severely
affected the air and water .............

A. quantity B. condition C. standard D. quality
Cau27: I.............. the bus yesterday as my friend gave me a lift.
A. can’t catch B. wasn’t catch C. didn’t catch D. not catch
Cau 28: Hanoiis ................ capital of Viet Nam.
A. an B. a C. the D. x
Cau 29: Her parents insisted that she ........... hard for the GCSE exams.
A. learn B. learns C. learning D. to learn
Cau 30: The presentation will focus ........... the causes and effects of globe warming all over the
world.
A. about B. of C. on D. in

Cau 31: Please turn off television. I also like watching TV but now I am having to study for the

exam.(error identification)

A. the B. television

C. am having D. TV
Cau 32: The kids often forget to turn off the lights when getting out of the room, ........ wastes a lot
of electricity.

A. which B. what

C. where D. that
Cau33: Asshe.................. a letter last night, the lights suddenly .................... out.

A. wrote/ went B. was writing/ was going

C. was writing/ went D. writes/ went
Cau 34: The government said that they didn’t have enough funds to deal with ........... medical
care.

A. high-cost B. cost- effective ~ C. cost- high D. low-cost
Cau 35: Ozone layer ........... increases the amount of UVB that reaches the Earth’s surface, which

in turn worsens the risk of getting cancer.
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A. preservation

Read the following passage and mark the letter A, B, C, or D to indicate the correct word or phrase

that best fits each of the numbered blanks

David Beckham is an English footballer (36 ) has played for Manchester United and Real

Madrid, as wellas (37 ) his country 100 times. He moved to the Los Angeles Galaxy in 2007
to increase the profile of football in America. He married Spice Girl Victoria Beckham and has

become a worldwide (38 ) , an advertising brand and a fashion icon.

B. combustion C. organic

D. depletion

Beckham has many interests off the soccer pitch and is rarely out of the headlines, = (39)
concerning his marriage and children. He has established football academies in Los Angeles and
London. In 2006 he was named a judge for the British Book (40 ) . He lives near Tom Cruise
and the two are best buddies. Beckham is also a United Nations Goodwill Ambassador. (Source:
https://famouspeoplelessons.com)

Cau 36:
Cau 37:
Cau 38:
Cau 39:
Cau 40:

Sl

who

to represent
celebrity
especial
Titles

B. whose C. whom
B. representing C. to representing
B. celebrate C. celebration
B. specially C. especially
B. Bonus C. Awards
------ HET -—----
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KIEM TRA GIUA KY I NAM HQC 2022-2023
Mén: TIENG ANH - Lép: 12
Thoi gian: 45 phat (khong ké thoi gian giao dé)

MA DE 501
Choose the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. A. conducted B. discussed C. finished D. developed
Question 2. A. joing B. helps C. stays D. mails
Choose the word that differs from the other three in the position of primary stress in each of the following question.
Question 3. A. signal B. maintain C. marriage D. pointing
Question 4. A. attractive B. mischievous C. different D. sacrifice

Choose the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5. Peter said he would leave for Paris

A. next week B. last week C. the previous week D. the following week
Question 6. The teacher asked her students eans at school..

A. not to wear B. not wear C. not wearing D. did not wear
Question7. We might raise our hands and wave our friends as a signal that we saw them.

A.in B. with C.to D. for
Question 8. Daisy often__ car to the office.

A. drive B. is driving C. has driven D. drives
Question 9. Ann and Susan each other since they were at school.

A. would know B. have known C. had known D. knew
Question 10. Gestures such as waving and raising hands are forms of communication.

A. impolite B. non-verbal C. verbal D. formal
Question 11. My son went to bed he had done his homework.

A. by the time B. until C. hardly D. after
Question 12. Mary asked me my grandparents in the countryside the week before.

A. If T had visited B. if I visited C. if did visit D. if had I visited
Question 13. Children receive its early at home so parents should buy some educational magazines to put them in the bookcase.

A. educate B. education C. educationally D. educational
Question 14. Many problems have since the beginning of the school year.

A. come out B. brought out C. come up D. brought up
Question 15. The tables at the party by the waiters at the present.

A. is being laid B. is laid C. are being laid D. have been laid
Question 16. Those students are now working day and night in an to pass the final exam.

A. attempt B. advance C. order D. ability
Question 17. It’s parents' duty and responsibility to hands to take care of their children and give them a happy home.

A. hold B. shake C. take D. join

Choose the underlined part that needs correction in the following questions.
Question 18. When Peter came to my house, I did my homework last night

A. came B. to my house, C. did D. my
Question 19. Maria is said to escape from_a fire two years ago.
A. said B. to escape C.a D. two years

Choose the word(s) CLOSEST in meaning to the underlined word(s) in the following questions.
Question 20. In most situations, pointing at someone is usually considered to be impolite.

A. rude B. decent C. courteous D. gentle
Question 21. Her ideas have attracted the professor’s attention in the scientific community.
A. given B. got C. set D. left

Choose the word(s) OPPOSITE in meaning to the underlined word(s) the following questions.
Question 22. The majority of Asian students reject the American view that marriage is a partnership of equals.

A. accept B. object C. refuse D. turn down
Question 23. School uniform is compulsory in most of Vietnamese schools.
A. obligatory B. paid C. optional D. required

Choose the sentence that best completes each of the following exchanges:
Question 24. Two friends Tuan and Minh are talking about Minh’s performance.
- Tuan: How well you are playing ! - Minh:
A. I'm proud of it B. That's a nice compliment C. You're right D. I like to hear your words.
Question 25. Mary and Tom are talking about what to do after work.
Mary:- “Do you fancy going to a movie this evening?” -Tom: “
A. I’'m sorry. I don’t know that.B. That would be great. C. Not so bad. And you? D. Not at all. Go ahead.
Read the following passage and choose the correct word or phrase that best fits each of the numbered blanks:
Culture has a strong influence on non—verbal (26) . Even the simple act of looking someone in the eye is not at
all that simple. In the USA, Americans are encouraged to look directly at people when speaking to them. It shows interest (27)
what they are saying and is thought to carry a sense of honesty. Meanwhile, in Japan and Korea, people avoid long
periods of eye contact. It is considered more polite to look to the side during a conversation. The Lebanese, in contrast, stand close
together and look intensely into each other’s eyes. The action shows sincerity and gives people a better sense of what their
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counterparts want. Given such differences with even the most common expressions, people (28) travel or work abroad
have a real need to learn the other culture’s body language. People tend to be unaware of the messages they are sending to others.

29) , it is useful to consider your own body language before dealing with people from other cultures. Knowing about
the body language of friends, clients, and colleagues can be very helpful in (30) understanding and avoiding
miscommunication.

Question 26. A. communicatively ~ B. communicative C. communication D. communicate

Question 27. A. about B. to C. at D. in

Question 28. A. who B. whose C. where D. which

Question 29. A. However B. Because C. But D. So

Question 30. A. preventing B. developing C. keeping D. improving

Read the following passage and choose the correct answer to each of the questions.

Harvard University, today recognized as part of the top echelon of the world’s universities, came from very
inauspicious and humble beginnings. This oldest of America universities was founded in 1636 , just sixteen years after the
Pilgrims landed at Plymouth. Included in the Puritan emigrants to the Massachusetts colony during this period were more than
100 graduates of England’s prestigious Oxford and Cambridge universities, and these university graduates in the New World
were determined that their sons would have the same educational opportunities that they themselves had had. Because of this
support in the colony for an institution of higher learning, the General Court of Massachusetts appropriated 400 pounds for a
college in October of 1636 and early the following year decided on a parcel of land for the school; this land was in an area
called Newetowne, which was later renamed Cambridge after its English cousin and is the site of the present-day university.

When a young minister named John Harvard, who came from the neighboring town of Charlestowne, died from
tuberculosis in 1638, he willed half of his estate of 1,700 pounds to the fledgling_college. In spite of the fact that only half of the
bequest was actually paid, the General Court named the college after the minister in appreciation for what he had done.The
amount of the bequest may not have been large, particularly by today’s standards, but it was more than the General Court had
found it necessary to appropriate in order to open the college.

Henry Dunster was appointed the first president of Harvard in 1640, and it should be noted that in addition to serving
as president, he was also the entire faculty, with an entering freshman class of four students. Although the staff did expand
somewhat, for the first century of its existence the entire teaching staff consisted of the president and three or four tutors.
Question 31. The main idea of this passage is that_.

A. What is today a great university started out small

B. .Harvard is one of the world's most prestigious universities.

C. John Harvard was key to the development of a great university

D. Harvard University developed under the auspices of the General Court of Massachusetts
Question 32. The "pounds" in the second paragraph are probably

A. units of money B. college students C. types of books D. school campuses
Question 33. Which of the following is NOT mentioned about John Harvard?

A. Where he came from B. What he died of

C. How much he bequeathed to Harvard D. Where he was buried
Question 34. The passage indicates that Harvardis

A. the oldest university in America B. the oldest university in the world

C. one of the oldest universities in America D. One of the oldest universities in the world
Question 35. The pronoun "they" in the first paragraph refers to

A. sons B. Oxford and Cambridge universities C. university graduates D. educational opportunities

Choosethe letter A, B, G, or D onyour answer sheet to indicate the sentence that is closest in meaning to the sentence given.
Question 36. I started working in this company five years ago.

A. T haven't worked for this company for five years. B. I have been working in this company for five years.

C. Assoon as it was five years, I had worked for this company. D. When I worked in this company, I started in five years
Question 37. “I visited him yesterday”,said she.

A. She told me she had visited him yesterday. B. She told me she had visited him the day before

C. She said me I visited him the day before. D. She told me she visited him yesterday.

Question 38. People say that six out of the seven wonders of the ancient world were destroyed.
A. Tt was said that six out of the seven wonders of the ancient world were destroyed.
B. Six out of the seven wonders of the ancient world are said to have been destroyed.
C. It is said that six out of the seven wonders of the ancient world are destroyed.
D. Six out of the seven wonders of the ancient world are said to be destroyed.
Choose the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences.
Question 39. Minh finished his homework. Then he went to bed.
A. Minh went to bed after he had finished his homework. B. After Minh had gone to bed, he finished his work.
C. Minh had gone to bed by the time he finished his homework. D. Before Minh finished his homework, he had went to bed.
Question 40. I arrived at work. The secretary soon knocked at the door.
A. Had the secretary knocked at the door, I would have arrived at work.
B. Hardly had the secretary knocked at the door when I just arrived at work.
C. As soon as | had arrived at work as the secretary knocked at the door.
D. No sooner had I arrived at work than the secretary knocked at the door.
------ THE END------
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MA DE 501
Choose the word whose underlined part differs from the other three in pronunciation in each of the following questions.
Question 1. A. conducted B. discussed C. finished D. developed
Question 2. A. joing B. helps C. stays D. mails
Choose the word that differs from the other three in the position of primary stress in each of the following question.
Question 3. A. signal B. maintain C. marriage D. pointing
Question 4. A. attractive B. mischievous C. different D. sacrifice

Choose the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the following questions.
Question 5. Peter said he would leave for Paris

A. next week B. last week C. the previous week D. the following week
Question 6. The teacher asked her students eans at school..

A. not to wear B. not wear C. not wearing D. did not wear
Question7. We might raise our hands and wave our friends as a signal that we saw them.

A.in B. with C.to D. for
Question 8. Daisy often__ car to the office.

A. drive B. is driving C. has driven D. drives
Question 9. Ann and Susan each other since they were at school.

A. would know B. have known C. had known D. knew
Question 10. Gestures such as waving and raising hands are forms of communication.

A. impolite B. non-verbal C. verbal D. formal
Question 11. My son went to bed he had done his homework.

A. by the time B. until C. hardly D. after
Question 12. Mary asked me my grandparents in the countryside the week before.

A. If T had visited B. if I visited C. if did visit D. if had I visited
Question 13. Children receive its early at home so parents should buy some educational magazines to put them in the bookcase.

A. educate B. education C. educationally D. educational
Question 14. Many problems have since the beginning of the school year.

A. come out B. brought out C. come up D. brought up
Question 15. The tables at the party by the waiters at the present.

A. is being laid B. is laid C. are being laid D. have been laid
Question 16. Those students are now working day and night in an to pass the final exam.

A. attempt B. advance C. order D. ability
Question 17. It’s parents' duty and responsibility to hands to take care of their children and give them a happy home.

A. hold B. shake C. take D. join

Choose the underlined part that needs correction in the following questions.
Question 18. When Peter came to my house, I did my homework last night

A. came B. to my house, C. did D. my
Question 19. Maria is said to escape from_a fire two years ago.
A. said B. to escape C.a D. two years

Choose the word(s) CLOSEST in meaning to the underlined word(s) in the following questions.
Question 20. In most situations, pointing at someone is usually considered to be impolite.

A. rude B. decent C. courteous D. gentle
Question 21. Her ideas have attracted the professor’s attention in the scientific community.
A. given B. got C. set D. left

Choose the word(s) OPPOSITE in meaning to the underlined word(s) the following questions.
Question 22. The majority of Asian students reject the American view that marriage is a partnership of equals.

A. accept B. object C. refuse D. turn down
Question 23. School uniform is compulsory in most of Vietnamese schools.
A. obligatory B. paid C. optional D. required

Choose the sentence that best completes each of the following exchanges:
Question 24. Two friends Tuan and Minh are talking about Minh’s performance.
- Tuan: How well you are playing ! - Minh:
A. I'm proud of it B. That's a nice compliment C. You're right D. I like to hear your words.
Question 25. Mary and Tom are talking about what to do after work.
Mary:- “Do you fancy going to a movie this evening?” -Tom: “
A. I’'m sorry. I don’t know that.B. That would be great. C. Not so bad. And you? D. Not at all. Go ahead.
Read the following passage and choose the correct word or phrase that best fits each of the numbered blanks:
Culture has a strong influence on non—verbal (26) . Even the simple act of looking someone in the eye is not at
all that simple. In the USA, Americans are encouraged to look directly at people when speaking to them. It shows interest (27)
what they are saying and is thought to carry a sense of honesty. Meanwhile, in Japan and Korea, people avoid long
periods of eye contact. It is considered more polite to look to the side during a conversation. The Lebanese, in contrast, stand close
together and look intensely into each other’s eyes. The action shows sincerity and gives people a better sense of what their
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counterparts want. Given such differences with even the most common expressions, people (28) travel or work abroad
have a real need to learn the other culture’s body language. People tend to be unaware of the messages they are sending to others.

29) , it is useful to consider your own body language before dealing with people from other cultures. Knowing about
the body language of friends, clients, and colleagues can be very helpful in (30) understanding and avoiding
miscommunication.

Question 26. A. communicatively ~ B. communicative C. communication D. communicate

Question 27. A. about B. to C. at D. in

Question 28. A. who B. whose C. where D. which

Question 29. A. However B. Because C. But D. So

Question 30. A. preventing B. developing C. keeping D. improving

Read the following passage and choose the correct answer to each of the questions.

Harvard University, today recognized as part of the top echelon of the world’s universities, came from very
inauspicious and humble beginnings. This oldest of America universities was founded in 1636 , just sixteen years after the
Pilgrims landed at Plymouth. Included in the Puritan emigrants to the Massachusetts colony during this period were more than
100 graduates of England’s prestigious Oxford and Cambridge universities, and these university graduates in the New World
were determined that their sons would have the same educational opportunities that they themselves had had. Because of this
support in the colony for an institution of higher learning, the General Court of Massachusetts appropriated 400 pounds for a
college in October of 1636 and early the following year decided on a parcel of land for the school; this land was in an area
called Newetowne, which was later renamed Cambridge after its English cousin and is the site of the present-day university.

When a young minister named John Harvard, who came from the neighboring town of Charlestowne, died from
tuberculosis in 1638, he willed half of his estate of 1,700 pounds to the fledgling_college. In spite of the fact that only half of the
bequest was actually paid, the General Court named the college after the minister in appreciation for what he had done.The
amount of the bequest may not have been large, particularly by today’s standards, but it was more than the General Court had
found it necessary to appropriate in order to open the college.

Henry Dunster was appointed the first president of Harvard in 1640, and it should be noted that in addition to serving
as president, he was also the entire faculty, with an entering freshman class of four students. Although the staff did expand
somewhat, for the first century of its existence the entire teaching staff consisted of the president and three or four tutors.
Question 31. The main idea of this passage is that_.

A. What is today a great university started out small

B. .Harvard is one of the world's most prestigious universities.

C. John Harvard was key to the development of a great university

D. Harvard University developed under the auspices of the General Court of Massachusetts
Question 32. The "pounds" in the second paragraph are probably

A. units of money B. college students C. types of books D. school campuses
Question 33. Which of the following is NOT mentioned about John Harvard?

A. Where he came from B. What he died of

C. How much he bequeathed to Harvard D. Where he was buried
Question 34. The passage indicates that Harvardis

A. the oldest university in America B. the oldest university in the world

C. one of the oldest universities in America D. One of the oldest universities in the world
Question 35. The pronoun "they" in the first paragraph refers to

A. sons B. Oxford and Cambridge universities C. university graduates D. educational opportunities

Choosethe letter A, B, G, or D onyour answer sheet to indicate the sentence that is closest in meaning to the sentence given.
Question 36. I started working in this company five years ago.

A. T haven't worked for this company for five years. B. I have been working in this company for five years.

C. Assoon as it was five years, I had worked for this company. D. When I worked in this company, I started in five years
Question 37. “I visited him yesterday”,said she.

A. She told me she had visited him yesterday. B. She told me she had visited him the day before

C. She said me I visited him the day before. D. She told me she visited him yesterday.

Question 38. People say that six out of the seven wonders of the ancient world were destroyed.
A. Tt was said that six out of the seven wonders of the ancient world were destroyed.
B. Six out of the seven wonders of the ancient world are said to have been destroyed.
C. It is said that six out of the seven wonders of the ancient world are destroyed.
D. Six out of the seven wonders of the ancient world are said to be destroyed.
Choose the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each pair of sentences.
Question 39. Minh finished his homework. Then he went to bed.
A. Minh went to bed after he had finished his homework. B. After Minh had gone to bed, he finished his work.
C. Minh had gone to bed by the time he finished his homework. D. Before Minh finished his homework, he had went to bed.
Question 40. I arrived at work. The secretary soon knocked at the door.
A. Had the secretary knocked at the door, I would have arrived at work.
B. Hardly had the secretary knocked at the door when I just arrived at work.
C. As soon as | had arrived at work as the secretary knocked at the door.
D. No sooner had I arrived at work than the secretary knocked at the door.
------ THE END------
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(khéng ké thoi gian phdt dé)

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the
other three in the position of primary stress in each of the following questions.
Question 1: A. marriage B. appropriate C. confident D. mischievous

Question 2: A. confide B. precede C. attract D. signal

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) OPPOSITE in
meaning to the underlined word(s) in the following questions.
Question 3: In Western culture, it is polite to maintain eye contact during conversation.

A. irresponsible B. informal C. insecure D. discourteous
Question 4: Henry hoped that his sons would someday take over his retail business and maintain
the high level of customer service and satisfaction that Henry valued so much.

A. support B. connect C. climinate D. uphold

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best
combines each pair of sentences in each of the following questions.
Question 5: Tom returned home. At that moment, we were having dinner.

A. As soon as we were having dinner, Tom returned home.

B. Tom returned home in the middle of our dinner.

C. Tom returned home when we stopped having dinner.

D. When we started having dinner, Tom returned home.
Question 6: The basketball team knew they lost the match. They soon started to blame each
other.

A. Not only did the basketball team lose the match but they blamed each other as well.

B. As soon as they blamed each other, the basketball team knew they lost the match.

C. No sooner had the basketball team started to blame each other than they knew they lost the
match.

D. Hardly had the basketball team known they lost the match when they started to blame each
other.
Question 7: Mike went home from school. Then he played soccer.

A. When Mike played soccer, he went home from school.

B. By the time Mike went home from school, he had played soccer.

C. After Mike had gone home from school, he played soccer.

D. As soon as Mike had played soccer, he went home from school.

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined
part differs from the other three in pronunciation in each of the following questions.
Question 8: A. maintains B. rejects C. spends D. solves

Question 9: A. conducted B. discussed C. sacrificed D. approached
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Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to
complete each of the following questions.

Question 10: Peter and Jane are talking about love and marriage.

- Jane: I think that a happy marriage should be based on love.

- Peter: . Love plays an important part in our marriage.
A. It is out of question B. I can’t agree with you more
C. No way! D. I don’t think so

Question 11: Mr. Collin: “You’ve been making very good progress. I’'m proud of you!”
Brain: “ ”

A. I really appreciate you saying that.

B. Don’t worry about it!

C. Everything’s right. Thank you.

D. No problem.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to the sentence given in each of the following questions.
Question 12: “Remember to switch off when you have finished”, he said
A. He offered me to switch off when I’d finished.
B. He reminded me to switch off when I had finished.
C. He suggested me to switch off when I’d finished.
D. He reminded me to switch off when I have finished.
Question 13: Sarah said: “I read this book last year.”
A. Sarah said she read this book the previous year.
B. Sarah said she has read that book the previous year.
C. Sarah said she had read that book the previous year.
D. Sarah said she would read that book the previous year.
Question 14: We haven't been to the cinema for a long time.
A. We wish we went to the cinema now.

B. It's a long time since we last went to the cinema.
C. We have been to the cinema for a long time.
D. We don't go to the cinema as we used to.

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of
the following questions.

Question 15: marriages, which are usually decided by the parents, are usually seen in
Indian and African cultures.

A. Contractual B. Romantic C. Open D. Modern
Question 16: He was very respectful at home and to his parents.

A. obey B. obedience C. obedient D. obediently
Question 17: Bill asked Tom in London.

A. if the train had arrived B. whether the train arrives

C. did the train arrive D. does the train arrive
Question 18: Mr Bill at the university for 40 years before he retired last year.

A. had worked B. has worked C. worked D. was working
Question 19: Affected by the Western cultures, Vietnamese young people's attitudes love
and marriage have dramatically changed.

A. for B. with C. towards D. through
Question 20: He to the UK for further education since he finished upper secondary
school.
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A. had gone B. was going C. has gone D. went

Question 21: Yesterday, John the street when a truck turned the corner very fast and
almost hit him.

A. was crossing B. had crossed C. crosses D. crossed
Question 22: Of all the paintings in the gallery, it was this one that really my eye.

A. caught B. seized C. grasped D. snatched
Question 23: Jane as a nurse for 7 years then she became a teacher.

A. worked B. has worked C. was working D. has been
working
Question 24: Whenever problems , we discuss them frankly and find solutions quickly.

A. break off B. come out C. putup D. come up
Question 25: Be quiet! My mother on the phone.

A. was talking B. talks C. talked D. is talking
Question 26: By the end of next year, George English for 2 years.

A. will have learned B. will learn C. would learn D. has learned

Mark the letter A, B, C or D on your answer sheet to indicate the word(s) CLOSEST in
meaning to the underlined word(s) in the following questions.

Question 27: Some researchers have just conducted a survey of young people’s points of view
on contractual marriage.

A. performed B. managed C. sent D. directed
Question 28: Computers and telecommunication are bound to have a huge influence on various
aspects of our life.

A. like B. diverse C. similar D. equivalent

Mark the letter A , B, C, or D on your answer sheet to indicate the underlined part that
needs correction in each of the following questions.
Question 29: She wanted to know what company I worked for the previous year.

A. wanted B. worked for C. the previous year D. what company
Question 30: The students will have good preparations before they had their final examination next
week.

A. had B. examination C. will have D. before

Read the following passage and mark the letter A, B, C, or D on your answer sheet to
indicate the correct answer to each of the questions from 31 7o 35.

Belgium is a very old country, with a fascinating mixture of old customs and modern laws.
Belgium weddings may be performed as a civil ceremony or as a religious ceremony.
Traditionally, when a couple in Belgium wishes to announce their marriage, the wedding
invitations are printed on two sheets of paper, one from the bride’s family and one sheet from the
groom’s family. These wedding invitations symbolize the union of the two families and the
partnership of the new union.

An ancient Belgium custom that is designed to unite the two families calls for the bride to
stop as she walks up the aisle and to hand her mother a single flower. The two then embrace.
Then, during the recessional, the bride and groom walk to the groom’s mother and the new bride
hands her new mother-in-law a single flower and the two of them embrace, symbolizing the
bride’s acceptance of her new mother.

One of the most important and enduring traditions of the Belgium wedding is for the bride
to carry a specially embroidered handkerchief that has her name embroidered on it. After the
wedding this handkerchief is framed and hung on the wall in a place of honor. When the next
female member of the bride’s family is to be wed, the handkerchief is removed from its frame,
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the new bride’s name is embroidered onto it, and it is passed down. The wedding handkerchief is
passed from generation to generation, and is considered an important family heirloom.

Question 31: Which of the following could be the best title of this passage?
A. The differences between an ancient wedding and a modermn one in Belgium
B. Belgium’s wedding customs and traditions
C. Thebride’s and groom’s traditional activities on their wedding day
D. Belgium’s wedding ceremony
Question 32: What does the word “them” in the third paragraph refer to?
A. the bride and her mother B. the bride and her mother-in-law
C. the bride and the groom D. the groom and his mother-in-law Question
33: It can be inferred from the passage that the wedding handkerchief
A. 1s highly appreciated in the home of Belgian people.
B. is only replaced by another person in their house.
C. is embroidered in most important occasions in Belgium.
D. is prepared for the bride by her mother before the wedding.
Question 34: The word “heirloom” in paragraph 4 is closest in meaning to .
A. representation B. dowry C. inheritance D. pride
Question 35: The following is true about Belgium’s wedding, EXCEPT
A. Each mother of the couple is given a single flower at their children’s wedding.
B. The bride often hugs her mother-in-law before embracing her mother.
C. The weddings in Belgium are not only a civil event but also a religious one.
D. The wedding invitations are the symbol of both the bride’s and the groom’s families.

Mark the letter A, B, C, or D on your answer sheet to indicate the correct word or phrase that
best fits each of the numbered blanks from 36 70 40.
Culture Clash

In Africa a famous food company tried to sell its baby food by advertising it with the picture of
a baby on the label. They did not know that this particular country used labels only to (35)
a picture of the food inside. When Pepsico used the slogan "Come alive with Pepsi” in Taiwan, they
had no idea that it would be translated into Chinese as 'Pepsi brings your ancestors (37) from
the dead’.

Misunderstandings such as these about language or about culture are sometimes comical but can
also cause genuine hurt or anger. Business styles vary widely in different countries and what is normal

in one culture can be completely (38) in another.
Socialising in different countries can be tricky. In Arabic countries, for example, people do not discuss
business over meals. Giving gifts is (39) potential problem: in the UK most people take
presents to a dinner party, but in many countries this is not polite (40) it suggests you think the
host is poor.
Question 36: A. record B. show C. display D. express
Question 37: A. with B. for C. back D. at
Question 38: A. acceptable B. acceptably C. accepted D. unacceptable
Question 39: A. other B. others C. the other D. another
Question 40: A. so that B. because C. despite D. although

------ THE END ------
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Ma de Cau Dap an
801 1 B
801 2 D
801 3 D
801 4 C
801 5 B
801 6 D
801 7 C
801 8 B
801 9 A
801 10 B
801 11 A
801 12 B
801 13 C
801 14 B
801 15 A
801 16 C
801 17 A
801 18 A
801 19 C
801 20 C
801 21 A
801 22 A
801 23 A
801 24 D
801 25 D
801 26 A
801 27 A
801 28 B
801 29 B
801 30 A
801 31 B
801 32 B
801 33 A
801 34 C
801 35 B
801 36 B
801 37 C
801 38 D
801 39 D
801 40 B
802 1 A
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802 2 C
802 3 A
802 4 D
802 5 C
802 6 C
802 7 B
802 8 B
802 9 B
802 10 C
802 11 C
802 12 D
802 13 C
802 14 B
802 15 C
802 16 B
802 17 C
802 18 D
802 19 D
802 20 C
802 21 C
802 22 B
802 23 B
802 24 B
802 25 D
802 26 D
802 27 B
802 28 C
802 29 D
802 30 C
802 31 D
802 32 D
802 33 D
802 34 B
802 35 A
802 36 D
802 37 D
802 38 C
802 39 D
802 40 D
803 1 A
803 2 A
803 3 B
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803 4 B
803 5 C
803 6 C
803 7 A
803 8 D
803 9 D
803 10 C
803 11 D
803 12 C
803 13 A
803 14 A
803 15 A
803 16 B
803 17 C
803 18 C
803 19 B
803 20 C
803 21 B
803 22 D
803 23 C
803 24 D
803 25 A
803 26 D
803 27 C
803 28 B
803 29 D
803 30 A
803 31 B
803 32 A
803 33 B
803 34 C
803 35 D
803 36 C
803 37 D
803 38 A
803 39 A
803 40 C
804 1 B
804 2 D
804 3 D
804 4 B
804 5 B
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804 6 D
804 7 D
804 8 A
804 9 B
804 10 A
804 11 C
804 12 A
804 13 B
804 14 A
804 15 B
804 16 D
804 17 C
804 18 C
804 19 A
804 20 A
804 21 C
804 22 A
804 23 C
804 24 C
804 25 C
804 26 A
804 27 C
804 28 B
804 29 A
804 30 A
804 31 C
804 32 C
804 33 B
804 34 B
804 35 D
804 36 C
804 37 B
804 38 A
804 39 A
804 40 D
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PE KIEM TRA GIUA HQC KY |
NAM HQC : 2024-2025

Ho va tén HS: SBD:
I. Choose the word that has the underlined part pronounced differently from the others:
1. A. pool B. good C. look D. book
2. A. west B. between C. growth D. which
I1. Choose the word whose main stress is placed differently from others:
3. A. determine B. equality C. discussion D. celebrate
4. A. social B. assist C. formal D. friendly

I11. Choose the word which has the CLOSEST meaning with the underlined word:
5. Don’t forget to drop me a line when you’re away

A. telephone me B. call me C. write to me D. send me a telegram
6. Her parents are growing increasingly concerned by her erratic behaviour.
A. answerable B. angelic C. anxious D. ancestral

IV. Choose the word which is OPPOSITE meaning to the underlined word:
7. She decided to remain celibate and devote her life to helping the homeless and orphans.

A. divorced B. separated C. single D. married
8. Driver are advised to get enough petrol because filling stations are few and far between on the highway.
A. unlikely to happen B. difficult to access C. easy to find D. impossible to reach

V. Mark the letter A, B, C or D to indicate the correct response to each of the following exchanges:
9. John is talking to Daisy about her new blouse
- John: "You really have a beautiful blouse, Daisy, I’ve never seen such a perfect thing on you!"

- Daisy: “ J
A. I'm sorry to hear that. B. Thanks, That’s a nice compliment.
C. Don't mention it. D. Thanks for your gift!

10. Daisy wants to invite her classmate, Joe, to her birthday party.
- Daisy: “Listen, I am having a birthday party next Friday. Do you want to come?”’
- Joe: « What time does it start?”
A. Sure, I’d love to. B. Sorry. I’'m busy then. C. I can’t agree with you. D. I like a party.
V1. Mark the letter A, B, C or D to indicate the underlined part that needs CORRECTION in each of the
following questions.
11. Today's students also appear more_formerly dressed and conservative- looking these days.

A. Today’s B. also C. formerly D. these days
12. He didn’t meet her even one time since they said good bye together.

A. didn’t meet B. even C. one time D. said
13. The puppy stood up slowly, wagged their tail, blinked its eyes, and barked.

A. slowly B. their C. blinked D. and

VII. Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.
14. Probably the most common way of attracting someone’s attention is by .

A. dancing B. singing C. nodding D. waving
15. Heis a boy. He is often kind and helpful to every classmate.
A. frank B. lovely C. obedient D. caring
16. Some researchers have just a survey of young people’s points of view on contractual marriage.
A. conducted B. directed C. managed D. sent
17. sure that you follow the instructions carefully.
A. Believe B. Try C. Do D. Make
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18. The trouble with James is that he never on time for a meeting.

A. turns up B. takes off C. takes up D. turns down
19. You’re putting the cart before the of you work on Project B before Project A because

the former is a sequel to the latter.

A. horse B. dog C. buffalo D. ox
20. They agree that it is unwise to confide ___ their wives.

A.at B.in C. for D. with
21. If a boss wants to have a well-qualified staff, he should have to pay his employees .

A. appropriately B. appropriate C. appropriation D. appropriating
22. | tothe market with my mother yesterday.

A.go B. was going C. have gone D. went
23. Gold in California in the 19th century.

A. was discovered B. has been discovered C. was discover D. they discover
24, high school, Nam attended a university in the city centre.

A. Having finished B. To have finished C. Having been finished D. To finish
25. the destination, he will have been walking for about three hours.

A. When John will get B. By the time John gets

C. After John has got D. until John is getting
26. Let's go for a long walk, ?

A. will we B. shall we C. don't you D. do you
27. Mike his favorite program on TV when the lights went out.

A. was watching B. is watching C. watched D. watches

VI11. Reading comprehension: Choose your best answer:

Modern civilization is heavily dependent on energy. Without reliable power sources, we couldn’t operate
machines, use transportation, communicate via the Internet, or do many other things. Although everyone
recognizes the importance of energy, deciding what kind of energy the world should use in the future is not a
simple task. The two leading candidates for this role are green energy and nuclear energy.

Currently, most of the energy we use is derived from fossil fuels. Although this energy source has got us this
far, there are several problems with it. For starters, it is a finite resource which is quickly running out. Some
analysts have even estimated that the Earth could run out of coal and oil within the next 50 years. Burning fossil
fuels also creates large amount of pollution, which is harmful to the environment. Although fossil fuels still
provide the majority of our power, governments are seeking better energy sources to use going forward.

Green energy is one option that is becoming increasingly attractive. It includes technologies such as solar,
wind, and hydro power. These are seen as clean sources of energy because they cause very little pollution. In
addition, they are completely renewable, so there is no danger that it will run out. The major disadvantage with
green energy sources is that they are not cheap.

The other alternative is nuclear power. Like green energy, it is also a renewable source of power that will not
run out, and it also doesn’t produce air pollution. In addition, nuclear power is more reliable than green energy,
as it doesn’t depend on sunshine, rain, or wind to operate. The major issues with nuclear power are safety concerns
and nuclear waste. Nuclear power plants create a considerable amount of nuclear waste which is extremely
hazardous to people’s health. If they happen to have a meltdown, this could destroy the surrounding area for years
to come.

The recent nuclear disaster in Fukushima, Japan brought this reality into the spotlight once again. In
response, Germany announced it would close down eight of its nuclear plants immediately, and close the rest by
2022. Meanwhile, other nations refuse to give up on nuclear power, stating that these disasters are rare. The debate
of whether to use green or nuclear power will likely continue for some time. In the end, it is quite possible that
both energy sources will be used to fuel our planet.

(Adapted from Intensive Reading Comprehension Skills)
28. What is the main focus of the passage?
A. Why energy is important B. The energy sources used in the past
C. Comparing future energy solutions D. Discussing how disasters affect power sources
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29. The word “finite” in paragraph 2 is closest in meaning to

A. abundant B. limited C. insufficient D. replaceable
30. According to the passage, what is the main problem with green energy?
A. It creates lots of pollution. B. It costs more money than other solutions.
C. No one is interested in using it. D. It won’t work at all in many nations.
31. The word “it” in paragraph 4 refers to
A. source of power B. alternative power C. green energy D. nuclear power

32. Which of the following is TRUE according to the passage?
A. Fossil fuels will continue to be the best choice for the future.
B. Nuclear energy will outweigh green energy in the near future.
C. It is easy to decide on the energy solution for the future.
D. A mix of different energy sources will be used in the future.
33. The word “spotlight” in paragraph 5 is closest in meaning to .
A. concern B. attention C. danger D. area of light
34. It can be inferred from the passage that
A. nuclear power is more expensive than other sources
B. nuclear energy is renewable because it can be replenished
C. nations have different viewpoints about the utility of nuclear power
D. the nuclear disaster in Fukushima made other countries give up on nuclear power
IX. Mark the letter A, B, C, or D to indicate the suitable answer for each question.
35. “Mum, please don’t tell Dad my mistake!” the boy said.
A. The boy insisted his mother not tell his father his mistake.
B. The boy told his mother not to mention his mistake any more.
C. The boy asked his mother not to tell his father his mistake.
D. The boy wanted his mother to keep his mistake in her heart.
36. The last time | saw her was three years ago.
A. | have not seen her for three years.
B. About three years ago, | used to meet her.
C. I have often seen her for the last three years.
D. I saw her three years ago and will never meet her
37. | started to read this book at 2 o’clock.
A. | has been read this book at 2 o’clock. B. I have been reading this book since 2 o’clock
C. I have been reading this book for 2 o’clock. D. | have been reading this book in 2 o’clock.
38. I really regret that you haven't told me about her family.
A. If only you would tell me about her family.
B. If only I didn't regret that you hadn't told me about her family.
C. If only you had told me about her family.
D. If only you hadn't told me about her family.
39. This is the first time | have gone to the zoo.

A. | have ever gone to the zoo before. B. I had gone to the zoo several times

C. I have never gone to the zoo before. D. I had ever gone to the zoo like this before
40. She last played tennis two years ago.

A. She has played tennis for two years. B. She hasn’t played tennis since two years.

C. She hasn’t played tennis for two years ago. D. She hasn’t played tennis for two years.
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DPE KIEM TRA GIUA HQC KI I - NAM HQC: 2024-2025
MON: TIENG ANH - KHOI 12
Thoi gian 1am bai: 45 phut

‘ (Khong ké thoi gian giao dé)
MA PE THI: 197 (Dé thi co 4 trang gom 40 cau trac nghiém)

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose UNDERLINED
part differs from the other three in PRONUNCIATION in each of the following questions.
Question 1: A. conducted B. developed C. rushed D. expressed

Question 2: A. weekends B. works C. brothers D. schools

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the
other three in the position of STRESS in each of the following questions.

Question 3: A. believe B. practice C. decide D. attract

Question 4: A. hospital  B. summary C. attitude D. attention

Mark the letter A, B, C, or D on your answer to indicate the word CLOSEST in meaning to the
bold and underlined word in each of the following questions.
Question 5: We join hands to do everything with the purpose of giving our chilren a nice house and a
happy home.

A. work together B. hand in C. happen D. use hand
Question 6: Some researchers have just conducted a survey of young people's points of view on
contractual marriage.

A. sent off B. taken after C. gone off D. carried out

Mark the letter A, B, C, or D on your answer to indicate the word(s) OPPOSITE in meaning to
the bold and underlined word(s) in each of the following questions.
Question 7: I can turn the television off if you find it a distraction.

A. decision B. attention C. inattention D. solution
Question 8: [ saw red when he refused my request for a pay rise.
A. pointed at B. got angry C. remained calm D. came up

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 9: Most doctors and nurses have to work on a once or twice a week at the hospital.
A. bed B. night shift C. household chores D. special dishes
Question 10: Mary takes responsibility for the children when their mother is on business.
A. taking care of B. looking up C. sitting down D. shutting up
Question 11: Despite living in different countries, the two families have close links.
A. collected B. sustained C. stopped D. maintained
Question 12: We made several investments and lost quite a bit of money.
A. wise B. brillant C. unwise D. intelligent
Question 13: He was a quiet boy, who avoided the attention of his teachers.
A. attracting B. nodding C. using D. doing
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Question 14: Raising hands and waving are forms of communication.

A. uncountable B. countable C. non-verbal D. verbal
Question 15: If you don’t pay now, you’ll get it all wrong later.
A. notice B. instance C. verbal D. attention
Question 16: Civil rights include freedom, in law and in employment, and the right to vote.
A. maintenance B. attraction C. determination D. equality
Question 17: Some people are concerned with physical when choosing a wife or husband.
A. attractive B. attract C. attractiveness D. attractively
Question 18: The lecturer explained the problem very clearly and is always in response to
questions.
A. attention B. attentive C. attentively D. attend
Question 19: She the piano when our guests arrived last night.
A. was playing B. has played C. had played D. will play
Question 20: Next week, when there is a full moon, the ocean tides higher.
A. will be B. was C. had been D. would be
Question 21: My teacher arrived after | for him for ten minutes.
A. was waiting B. have waited C. had waited D. waited
Question 22: By the time Phong to help, we had already finished moving everything.
A. had arrived B. has arrived C. arrived D. was arriving
Question 23: Mr. Smith at this school since he graduated in 1980.
A. taught B. is teaching C. has taught D. was teaching

Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks.

In the early twentieth century, an American woman named Emily Post wrote a book on
etiquette. This book explained the proper behavior Americans should follow in many different social

(24) , from birthday parties to funerals. But in modern society, it is not simply to know the
proper rules for behavior in your own country. It is necessary for people (25) work or travel
abroad to understand the rules of etiquette in (26) cultures as well.

Cultural differences can be found in such simple processes as giving or receiving a  gift. In
Western cultures, a gift can be given to the receiver with relatively little ceremony. When a gift is
offered, the receiver usually takes the gift and expresses his or her thanks. (27) , in some Asian
countries, the act of gift-giving may appear confusing to Westerners. In Chinese culture, both the giver
and receiver understand that the receiver will typically refuse to take the gift several times before he or
she finally accepts it. In addition, to (28) respect for the receiver, it is common in several
Asian cultures to use both hands when offering a gift to another person.

(Source: Reading Advantage by Casey Malarcher)

Question 24: A. positions B. situations C. locations D. conditions
Question 25: A. when B. where C. which D. who
Question 26: A. each B. another C. other D. every
Question 27: A. However B. Otherwise C. Moreover D. Therefore
Question 28: A. show B. get C. feel D. take

Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the
correct answer to each of the following questions.

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols, and gestures may be found in every
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culture. Gestures are the “silent language” of every culture. We point a finger or move another part of
the body to show what we want to say. It is important to know the body language of every country or
we may be misunderstood. When you are in the United States, should greet each other with a
handshake in a formal introduction. The handshake must be firm. If the handshake is weak, it is a sign
of weakness or unfriendliness. Friends may place a hand on the other’s arm or shoulder. Some people,
usually women, greet a friend with a hug. Moreover, sign languages convey meaning more difficult to
describe because of their intricate relationship with the receiver’s cultural perceptions. In some
cultures, applauding in a theatre provides performers with an auditory symbol of approval. Gestures,
such as waving and handshaking also communicate certain cultural messages.

Although nonverbal forms of communication such as signals, signs, symbols and gestures are very
useful, they do have a large number of disadvantages. They usually do not allow ideas to be shared
without the sender being directly adjacent to the receiver. As a result, means of communication
intended to be used for long distances and extended periods are based on speech. Radios, televisions,
and telephones were invented.

Question 29: Which of the following would be best title for the passage?
A. Signs, signals, and symbols. B. Gestures
C. Ways of communication D. Speech

Question 30: Which of the following is NOT true, according to paragraph 1?
A. Speech is the only common way of communication.
B. Speech is the most advanced form of communication.
C. There are many ways of communicating without using speech.
D. Speech can be replaced somehow in communication.
Question 31: The word "their" in bold in paragraph 1 refers to
A. women B. some people C. sign languages D. unfriendliness

Question 32: The word “approval” in bold in paragraph 1 is closest in meaning to
A. convey B. disagreement C. support D. refusal

Question 33: Why were the telephones, radios, and televisions invented?

A. Because people were unable to understand signs, symbols, and signals.

B. Because people wanted to communicate across long distances.

C. Because people believed that signals, and symbols were obsolete.

D. Because people wanted new form of entertainment.
Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs
correction in each of the following questions.
Question 34: She gives her little sister a lovely doll for her birthday yesterday.

A B C D
Question 35: They felt in love with each other when they first met in 1982.
A B C D
Question 36: Nancy did not stop to greet me because she was on a hurry to go to work.
A B C D

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.
Question 37: He hasn’t had his hair cut for ten months.

A. He had his hair cut since ten months.

B. He doesn’t have his hair cut ten months ago.

C. He last had his hair cut ten months ago.
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D. He didn’t have any cut on his hair in ten months.
Question 38: John started working for this electronics firm in 1999
A. John has worked for this electronics firm since 1999.
B. John hasn’t worked for this electronics firm since 1999.
C. John worked for this electronics firm since 1999.
D. John has worked for this electronics firm for 1999.
Question 39: “I am going away tomorrow, mom. ”, the son said.
A. The son said that I was going away next day, mom.
B. The son told his mom that he was going away the next day.
C. The son asked his mom if he was going away tomorrow.
D. The son said to his mom he is going away the next day.
Question 40: “Don’t forget to turn off the lights before going out”, he said.
A. He congratulated me on turning off the lights before going out.
B. He reminded me to turn off the lights before going out.
C. He invited me to turn off the lights before going out.
D. He apologized to me for turning off the lights before going out.
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Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks.

In the early twentieth century, an American woman named Emily Post wrote a book on
etiquette. This book explained the proper behavior Americans should follow in many different social (1)

, from birthday parties to funerals. But in modern society, it is not simply to know the proper
rules for behavior in your own country. It is necessary for people (2) work or travel abroad to
understand the rules of etiquette in (3) cultures as well.

Cultural differences can be found in such simple processes as giving or receiving a  gift. In
Western cultures, a gift can be given to the receiver with relatively little ceremony. When a gift is
offered, the receiver usually takes the gift and expresses his or her thanks. (4) , in some Asian
countries, the act of gift-giving may appear confusing to Westerners. In Chinese culture, both the giver
and receiver understand that the receiver will typically refuse to take the gift several times before he or
she finally accepts it. In addition, to (5) respect for the receiver, it is common in several Asian
cultures to use both hands when offering a gift to another person.

Question 1: A. positions B. locations C. conditions D. situations
Question 2: A. when B. who C. where D. which
Question 3: A. other B. each C. another D. every
Question 4: A. Morecover B. Otherwise C. However D. Therefore
Question 5: A. get B. feel C. take D. show

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose UNDERLINED
part differs from the other three in PRONUNCIATION in each of the following questions.
Question 6: A. weekends B. brothers C. schools D. works

Question 7: A. developed B. rushed C. conducted D. expressed

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs
correction in each of the following questions.
Question 8: They felt in love with each other when they first met in 1982.

A B C D
Question 9: Nancy did not stop to greet me because she was on a hurry to go to work.
A B C D
Question 10: She gives her little sister a lovely doll for her birthday yesterday.
A B C D

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the
other three in the position of STRESS in each of the following questions.

Question 11: A. attention B. hospital C. summary D. attitude

Question 12: A. believe B. decide C. practice D. attract
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Mark the letter A, B, C, or D on your answer to indicate the word CLOSEST in meaning to the
bold and underlined word in each of the following questions.

Question 13: Some researchers have just conducted a survey of young people's points of view on
contractual marriage.

A. sent off B. taken after C. carried out D. gone off
Question 14: We join hands to do everything with the purpose of giving our chilren a nice house and
a happy home.

A. hand in B. work together C. happen D. use hand

Mark the letter A, B, C, or D on your answer to indicate the word(s) OPPOSITE in meaning to
the bold and underlined word(s) in each of the following questions.
Question 15: I saw red when he refused my request for a pay rise.

A. remained calm B. pointed at C. got angry D. came up
Question 16: I can turn the television off if you find it a distraction.
A. decision B. inattention C. solution D. attention

Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the
correct answer to each of the following questions.

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols, and gestures may be found in every
culture. Gestures are the “silent language” of every culture. We point a finger or move another part of
the body to show what we want to say. It is important to know the body language of every country or
we may be misunderstood. When you are in the United States, should greet each other with a
handshake in a formal introduction. The handshake must be firm. If the handshake is weak, it is a sign
of weakness or unfriendliness. Friends may place a hand on the other’s arm or shoulder. Some people,
usually women, greet a friend with a hug. Moreover, sign languages convey meaning more difficult to
describe because of their intricate relationship with the receiver’s cultural perceptions. In some
cultures, applauding in a theatre provides performers with an auditory symbol of approval. Gestures,
such as waving and handshaking also communicate certain cultural messages.

Although nonverbal forms of communication such as signals, signs, symbols and gestures are very
useful, they do have a large number of disadvantages. They usually do not allow ideas to be shared
without the sender being directly adjacent to the receiver. As a result, means of communication
intended to be used for long distances and extended periods are based on speech. Radios, televisions,
and telephones were invented.

Question 17: Which of the following would be best title for the passage?
A. Signs, signals, and symbols. B. Gestures
C. Speech D. Ways of communication

Question 18: Which of the following is NOT true, according to paragraph 1?
A. Speech is the most advanced form of communication.
B. There are many ways of communicating without using speech.
C. Speech is the only common way of communication.
D. Speech can be replaced somehow in communication.
Question 19: The word "their" in bold in paragraph 1 refers to
A. women B. sign languages C. some people D. unfriendliness

Question 20: The word “approval” in bold in paragraph 1 is closest in meaning to
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A. support B. convey C. disagreement D. refusal

Question 21: Why were the telephones, radios, and televisions invented?
A. Because people were unable to understand signs, symbols, and signals.
B. Because people believed that signals, and symbols were obsolete.
C. Because people wanted new form of entertainment.
D. Because people wanted to communicate across long distances.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.
Question 22: John started working for this electronics firm in 1999

A. John hasn’t worked for this electronics firm since 1999.

B. John worked for this electronics firm since 1999.

C. John has worked for this electronics firm for 1999.

D. John has worked for this electronics firm since 1999
Question 23: “I am going away tomorrow, mom. ”, the son said.

A. The son told his mom that he was going away the next day.

B. The son said that [ was going away next day, mom.

C. The son asked his mom if he was going away tomorrow.

D. The son said to his mom he is going away the next day.
Question 24: “Don’t forget to turn off the lights before going out”, he said.

A. He congratulated me on turning off the lights before going out.

B. He invited me to turn off the lights before going out.

C. He reminded me to turn off the lights before going out.

D. He apologized to me for turning off the lights before going out.
Question 25: He hasn’t had his hair cut for ten months.

A. He had his hair cut since ten months.

B. He last had his hair cut ten months ago.

C. He doesn’t have his hair cut ten months ago.

D. He didn’t have any cut on his hair in ten months.

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 26: Civil rights include freedom, in law and in employment, and the right to vote.
A. equality B. maintenance C. attraction D. determination
Question 27: Some people are concerned with physical when choosing a wife or husband.
A. attractive B. attract C. attractively D. attractiveness
Question 28: The lecturer explained the problem very clearly and is always in response to
questions.
A. attention B. attentively C. attentive D. attend
Question 29: She the piano when our guests arrived last night.
A. has played B. was playing C. had played D. will play
Question 30: Next week, when there is a full moon, the ocean tides higher.
A. was B. had been C. would be D. will be
Question 31: My teacher arrived after [ for him for ten minutes.
A. had waited B. was waiting C. have waited D. waited
Question 32: By the time Phong to help, we had already finished moving everything.
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A. had arrived B. arrived C. has arrived D. was arriving

Question 33: Mr. Smith at this school since he graduated in 1980.
A. taught B. is teaching C. was teaching D. has taught
Question 34: Most doctors and nurses have to work on a once or twice a week at the hospital.
A. bed B. household chores  C. night shift D. special dishes
Question 35: Mary takes responsibility for the children when their mother is on business.
A. looking up B. sitting down C. taking care of D. shutting up
Question 36: Despite living in different countries, the two families have close links.
A. maintained B. collected C. sustained D. stopped
Question 37: We made several investments and lost quite a bit of money.
A. wise B. unwise C. brillant D. intelligent
Question 38: He was a quiet boy, who avoided the attention of his teachers.
A. nodding B. using C. doing D. attracting
Question 39: Raising hands and waving are forms of communication.
A. uncountable B. non-verbal C. countable D. verbal
Question 40: If you don’t pay now, you’ll get it all wrong later.
A. notice B. instance C. attention D. verbal
—--HET--—--
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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 1: Next week, when there is a full moon, the ocean tides higher.
A. will be B. was C. had been D. would be
Question 2: My teacher arrived after I for him for ten minutes.
A. was waiting B. have waited C. had waited D. waited
Question 3: By the time Phong to help, we had already finished moving everything.
A. had arrived B. has arrived C. arrived D. was arriving
Question 4: Mr. Smith at this school since he graduated in 1980.
A. taught B. is teaching C. has taught D. was teaching
Question 5: Most doctors and nurses have to work on a once or twice a week at the hospital.
A. bed B. night shift C. household chores D. special dishes
Question 6: Mary takes responsibility for the children when their mother is on business.
A. taking care of B. looking up C. sitting down D. shutting up
Question 7: Despite living in different countries, the two families have close links.
A. collected B. sustained C. stopped D. maintained
Question 8: We made several investments and lost quite a bit of money.
A. wise B. brillant C. unwise D. intelligent
Question 9: He was a quiet boy, who avoided the attention of his teachers.
A. attracting B. nodding C. using D. doing
Question 10: Raising hands and waving are forms of communication.
A. uncountable B. countable C. non-verbal D. verbal
Question 11: If you don’t pay now, you’ll get it all wrong later.
A. notice B. instance C. verbal D. attention
Question 12: Civil rights include freedom, in law and in employment, and the right to vote.
A. maintenance B. attraction C. determination D. equality
Question 13: Some people are concerned with physical when choosing a wife or husband.
A. attractive B. attract C. attractiveness D. attractively
Question 14: The lecturer explained the problem very clearly and is always in response to
questions.
A. attention B. attentive C. attentively D. attend
Question 15: She the piano when our guests arrived last night.
A. was playing B. has played C. had played D. will play

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose UNDERLINED
part differs from the other three in PRONUNCIATION in each of the following questions.
Question 16: A. rushed B. developed C. conducted D. expressed

Question 17: A. schools B. works C. brothers D. weekends
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Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the
other three in the position of STRESS in each of the following questions.

Question 18: A. believe  B. practice C. decide D. attract

Question 19: A. hospital B. summary C. attitude D. attention

Mark the letter A, B, C, or D on your answer to indicate the word CLOSEST in meaning to the
bold and underlined word in each of the following questions.
Question 20: We join hands to do everything with the purpose of giving our chilren a nice house and
a happy home.

A. work together B. hand in C. happen D. use hand
Question 21: Some researchers have just conducted a survey of young people's points of view on
contractual marriage.

A. sent off B. taken after C. gone off D. carried out

Mark the letter A, B, C, or D on your answer to indicate the word(s) OPPOSITE in meaning to
the bold and underlined word(s) in each of the following questions.
Question 22: I can turn the television off if you find it a distraction.

A. decision B. attention C. inattention D. solution
Question 23: | saw red when he refused my request for a pay rise.
A. pointed at B. got angry C. remained calm D. came up

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs
correction in each of the following questions.
Question 24: Nancy did not stop to greet me because she was on a hurry to go to work.

A B C D
Question 25: She gives her little sister a lovely doll for her birthday yesterday.
A B C D
Question 26: They felt in love with each other when they first met in 1982.
A B C D

Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks.

In the early twentieth century, an American woman named Emily Post wrote a book on
etiquette. This book explained the proper behavior Americans should follow in many different social

(27) , from birthday parties to funerals. But in modern society, it is not simply to know the
proper rules for behavior in your own country. It is necessary for people (28) work or travel
abroad to understand the rules of etiquette in (29) cultures as well.

Cultural differences can be found in such simple processes as giving or receiving a  gift. In
Western cultures, a gift can be given to the receiver with relatively little ceremony. When a gift is
offered, the receiver usually takes the gift and expresses his or her thanks. (30) , In some Asian
countries, the act of gift-giving may appear confusing to Westerners. In Chinese culture, both the giver
and receiver understand that the receiver will typically refuse to take the gift several times before he or
she finally accepts it. In addition, to (31) respect for the receiver, it is common in several
Asian cultures to use both hands when offering a gift to another person.

Question 27: A. positions B. situations C. locations D. conditions
Question 28: A. when B. where C. which D. who

Follow fanpage dé nhan thém céc tai liéu doc quyén
https://www.facebook.com/Hocmai.vnTHPT



Question 29: A. each B. another C. other D. every
Question 30: A. However B. Otherwise C. Moreover D. Therefore
Question 31: A. get B. show C. feel D. take

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.
Question 32: He hasn’t had his hair cut for ten months.

A. He had his hair cut since ten months.

B. He doesn’t have his hair cut ten months ago.

C. He last had his hair cut ten months ago.

D. He didn’t have any cut on his hair in ten months.
Question 33: “I am going away tomorrow, mom. ”, the son said.

A. The son said that [ was going away next day, mom.

B. The son told his mom that he was going away the next day.

C. The son asked his mom if he was going away tomorrow.

D. The son said to his mom he is going away the next day.
Question 34: “Don’t forget to turn off the lights before going out”, he said.

A. He congratulated me on turning off the lights before going out.

B. He reminded me to turn off the lights before going out.

C. He invited me to turn off the lights before going out.

D. He apologized to me for turning off the lights before going out.
Question 35: John started working for this electronics firm in 1999

A. John has worked for this electronics firm since 1999.

B. John hasn’t worked for this electronics firm since 1999.

C. John worked for this electronics firm since 1999.

D. John has worked for this electronics firm for 1999.

Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the
correct answer to each of the following questions.

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols, and gestures may be found in every
culture. Gestures are the “silent language” of every culture. We point a finger or move another part of
the body to show what we want to say. It is important to know the body language of every country or
we may be misunderstood. When you are in the United States, should greet each other with a
handshake in a formal introduction. The handshake must be firm. If the handshake is weak, it is a sign
of weakness or unfriendliness. Friends may place a hand on the other’s arm or shoulder. Some people,
usually women, greet a friend with a hug. Moreover, sign languages convey meaning more difficult to
describe because of their intricate relationship with the receiver’s cultural perceptions. In some
cultures, applauding in a theatre provides performers with an auditory symbol of approval. Gestures,
such as waving and handshaking also communicate certain cultural messages.

Although nonverbal forms of communication such as signals, signs, symbols and gestures are very
useful, they do have a large number of disadvantages. They usually do not allow ideas to be shared
without the sender being directly adjacent to the receiver. As a result, means of communication
intended to be used for long distances and extended periods are based on speech. Radios, televisions,
and telephones were invented.

Question 36: Which of the following would be best title for the passage?
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A. Signs, signals, and symbols. B. Gestures
C. Ways of communication D. Speech

Question 37: Which of the following is NOT true, according to paragraph 1?
A. Speech is the only common way of communication.
B. Speech is the most advanced form of communication.
C. There are many ways of communicating without using speech.
D. Speech can be replaced somehow in communication.
Question 38: The word "their" in bold in paragraph I refers to

A. women B. some people C. sign languages D. unfriendliness
Question 39: The word “approval” in bold in paragraph 1 is closest in meaning to
A. convey B. disagreement C. support D. refusal

Question 40: Why were the telephones, radios, and televisions invented?
A. Because people were unable to understand signs, symbols, and signals.
B. Because people wanted to communicate across long distances.
C. Because people believed that signals, and symbols were obsolete.
D. Because people wanted new form of entertainment.
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(Khong ké thoi gian giao dé)
(Dé thi co 4 trang gom 40 cdu trac nghiém)

Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the
correct answer to each of the following questions.

Although speech is the most advanced form of communication, there are many ways of
communicating without using speech. Signals, signs, symbols, and gestures may be found in every
culture. Gestures are the “silent language” of every culture. We point a finger or move another part of
the body to show what we want to say. It is important to know the body language of every country or
we may be misunderstood. When you are in the United States, should greet each other with a
handshake in a formal introduction. The handshake must be firm. If the handshake is weak, it is a sign
of weakness or unfriendliness. Friends may place a hand on the other’s arm or shoulder. Some people,
usually women, greet a friend with a hug. Moreover, sign languages convey meaning more difficult to
describe because of their intricate relationship with the receiver’s cultural perceptions. In some
cultures, applauding in a theatre provides performers with an auditory symbol of approval. Gestures,
such as waving and handshaking also communicate certain cultural messages.

Although nonverbal forms of communication such as signals, signs, symbols and gestures are very
useful, they do have a large number of disadvantages. They usually do not allow ideas to be shared
without the sender being directly adjacent to the receiver. As a result, means of communication
intended to be used for long distances and extended periods are based on speech. Radios, televisions,
and telephones were invented.

Question 1: Which of the following would be best title for the passage?
A. Signs, signals, and symbols. B. Gestures
C. Speech D. Ways of communication

Question 2: Which of the following is NOT true, according to paragraph 1?
A. Speech is the most advanced form of communication.
B. There are many ways of communicating without using speech.
C. Speech is the only common way of communication.
D. Speech can be replaced somehow in communication.
Question 3: The word "their" in bold in paragraph I refers to
A. women B. sign languages C. some people D. unfriendliness

Question 4: The word “approval” in bold in paragraph 1 is closest in meaning to
A. support B. convey C. disagreement D. refusal

Question 5: Why were the telephones, radios, and televisions invented?
A. Because people were unable to understand signs, symbols, and signals.
B. Because people believed that signals, and symbols were obsolete.
C. Because people wanted new form of entertainment.
D. Because people wanted to communicate across long distances.
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Read the following passage and mark the letter A,B,C or D on your answer sheet to indicate the
correct word or phrase that best fits each of the numbered blanks.

In the early twentieth century, an American woman named Emily Post wrote a book on
etiquette. This book explained the proper behavior Americans should follow in many different social (6)

, from birthday parties to funerals. But in modern society, it is not simply to know the proper
rules for behavior in your own country. It is necessary for people (7) work or travel abroad to
understand the rules of etiquette in (8) cultures as well.

Cultural differences can be found in such simple processes as giving or receiving a  gift. In
Western cultures, a gift can be given to the receiver with relatively little ceremony. When a gift is
offered, the receiver usually takes the gift and expresses his or her thanks. (9) , iIn some Asian
countries, the act of gift-giving may appear confusing to Westerners. In Chinese culture, both the giver
and receiver understand that the receiver will typically refuse to take the gift several times before he or
she finally accepts it. In addition, to (10) respect for the receiver, it is common in several
Asian cultures to use both hands when offering a gift to another person.

(Source: Reading Advantage by Casey Malarcher)

Question 6: A. positions B. locations C. conditions D. situations
Question 7: A. when B. who C. where D. which
Question 8: A. other B. each C. another D. every
Question 9: A. Morcover B. Otherwise C. However D. Therefore
Question 10: A. get B. feel C. take D. show

Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs
correction in each of the following questions.
Question 11: They felt in love with each other when they first met in 1982.

A B C D
Question 12: Nancy did not stop to greet me because she was on a hurry to go to work.
A B C D
Question 13: She gives her little sister a lovely doll for her birthday yesterday.
A B C D

Mark the letter A, B, C, or D on your answer to indicate the word(s) OPPOSITE in meaning to
the bold and underlined word(s) in each of the following questions.
Question 14: | saw red when he refused my request for a pay rise.

A. remained calm B. pointed at C. got angry D. came up
Question 15: I can turn the television off if you find it a distraction.
A. decision B. inattention C. solution D. attention

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest in
meaning to each of the following questions.
Question 16: John started working for this electronics firm in 1999
A. John hasn’t worked for this electronics firm since 1999.
B. John worked for this electronics firm since 1999.
C. John has worked for this electronics firm for 1999.
D. John has worked for this electronics firm since 1999
Question 17: “I am going away tomorrow, mom. ”, the son said.
A. The son told his mom that he was going away the next day.
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B. The son said that [ was going away next day, mom.

C. The son asked his mom if he was going away tomorrow.

D. The son said to his mom he is going away the next day.
Question 18: “Don’t forget to turn off the lights before going out”, he said.

A. He congratulated me on turning off the lights before going out.

B. He invited me to turn off the lights before going out.

C. He reminded me to turn off the lights before going out.

D. He apologized to me for turning off the lights before going out.
Question 19: He hasn’t had his hair cut for ten months.

A. He had his hair cut since ten months.

B. He last had his hair cut ten months ago.

C. He doesn’t have his hair cut ten months ago.

D. He didn’t have any cut on his hair in ten months.

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 20: Mr. Smith at this school since he graduated in 1980.
A. taught B. is teaching C. was teaching D. has taught
Question 21: Most doctors and nurses have to work on a once or twice a week at the hospital.
A. bed B. household chores C. night shift D. special dishes
Question 22: Mary takes responsibility for the children when their mother is on business.
A. looking up B. sitting down C. taking care of D. shutting up
Question 23: Despite living in different countries, the two families have close links.
A. maintained B. collected C. sustained D. stopped
Question 24: Civil rights include freedom, in law and in employment, and the right to vote.
A. equality B. maintenance C. attraction D. determination
Question 25: Some people are concerned with physical when choosing a wife or husband.
A. attractive B. attract C. attractively D. attractiveness
Question 26: The lecturer explained the problem very clearly and is always in response to
questions.
A. attention B. attentively C. attentive D. attend
Question 27: By the time Phong to help, we had already finished moving everything.
A. had arrived B. arrived C. has arrived D. was arriving
Question 28: We made several investments and lost quite a bit of money.
A. wise B. unwise C. brillant D. intelligent
Question 29: He was a quiet boy, who avoided the attention of his teachers.
A. nodding B. using C. doing D. attracting
Question 30: Raising hands and waving are forms of communication.
A. uncountable B. non-verbal C. countable D. verbal
Question 31: If you don’t pay now, you’ll get it all wrong later.
A. notice B. instance C. attention D. verbal
Question 32: She the piano when our guests arrived last night.
A. has played B. was playing C. had played D. will play
Question 33: Next week, when there is a full moon, the ocean tides higher.
A. was B. had been C. would be D. will be
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Question 34: My teacher arrived after | for him for ten minutes.
A. had waited B. was waiting C. have waited D. waited

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose UNDERLINED
part differs from the other three in PRONUNCIATION in each of the following questions.
Question 35: A. brothers B. weekends C. schools D. works

Question 36: A.rushed B. developed C. conducted D. expressed

Mark the letter A, B, C, or D on your answer to indicate the word CLOSEST in meaning to the
bold and underlined word in each of the following questions.
Question 37: Some researchers have just conducted a survey of young people's points of view on
contractual marriage.

A. sent off B. taken after C. carried out D. gone off
Question 38: We join hands to do everything with the purpose of giving our chilren a nice house and
a happy home.

A. hand in B. work together C. happen D. use hand

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the
other three in the position of STRESS in each of the following questions.

Question 39: A. attention B. hospital C. summary D. attitude
Question 40: A. believe  B. decide C. practice D. attract
~—-HET-----
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ANH 12 - PAP AN DE KIEM TRA GIUA HKI -(22-23)- PE 197

1. A 9. B 17. C 25. D 33. B
2. B 10. A 18. B 26. C 34. A
3. B 11. D 19. A 27. A 35. A
4. D 12. C 20. A 28. A 36. C
5. A 13. A 21. C 29. C 37. C
6. D 14. C 22. C 30. A 38. A
7. B 15. D 23. C 31. C 39. B
8. C 16.D 24.B 32.C 40. B
ANH 12 - PAP AN PE KIEM TRA GIUA HKII -(21-22)-PE 248
1. D 9. C 17.D 25.B 33.D
2. B 10. A 18. C 26. A 34. C
3. A 11. A 19. B 27. D 35. C
4. C 12. C 20. A 28. C 36. A
5.D 13. C 21. D 29. B 37. B
6. D 14. B 22. D 30. D 38. D
7. C 15. A 23. A 31. A 39. B
8. A 16. D 24. C 32. B 40. C
ANH 12 - PAP AN PE KIEM TRA GIUA HKII -(21-22)-DE 356
1. A 9. A 17. B 25. A 33. B
2. C 10. C 18. B 26. A 34. B
3. C 11. D 19. D 27. B 35. A
4. C 12. D 20. A 28. D 36. C
5. B 13. C 21. D 29. C 37. A
6. A 14. B 22. B 30. A 38. C
7. D 15. A 23. C 31. B 39. C
8. C 16. C 24. C 32. C 40. B
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ANH 12 - PAP AN PE KIEM TRA GIUA HKII -(21-22)-DPE 430

1. D 9. C 17. A 25. D 33. D
2. C 10. D 18. C 26. C 34. A
3.B 11. A 19. B 27. B 35. D
4. A 12. C 20. D 28. B 36. C
5. D 13. A 21. C 29. D 37. C
6. D 14. A 22. C 30. B 38. B
7. B 15. D 23. A 31. C 39. A
8. A 16. D 24. A 32. B 40. C

ANH 12 - PAP AN PE KIEM TRA GIUA HKII -(21-22)-PE 525-(PE HOA NHAP)

1. A 9. A 17. C
2. B 10. C 18. C
3. B 11. D 19. B
4. D 12. D 20. A
5. A 13. C 21. C
6. B 14. A 22. C
7. B 15. A 23. A
8. A 16. C 24. B

25. B
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